-

Addad?

® D.STF-1~23
) e FIRTE T TR g

v Consid'er the following Peshwas and arrange them in |1, fmforfad st T
ascending chronological order - FTAFATAN syafeerd HIRIT :
1. Raghunath Rao (Raghoba) | T m)
2. Balaji Baji Rao ) WWW
3. Narayan Rao ’
4. Balaji Vishwanath 3. ARETTH
Select the correct answer from the codes given 4. HTFIT@ﬁf:CTW -
below : — :ﬁ;}ﬁqr{q{zﬁﬁﬂﬁmﬂﬁ'{-
B 4,251 ) 3,412 @ 42,31 (®) 3412
) 1,2:3,4 o 1,3,2,4 © 1,234 @ 1,3,2,4
2. S;rlletc:l; :Te follow1nglst§tements with reference to N areft R & a ¥ Frafafad FuAl W fa=m
. . $ifsre
1. ::;[:n ta;:eldric:erem:es of numerous river-ports in | e ﬁ‘a@aﬁ?ﬁ-m 3 ai e &
2. There were large entrepots of goods and traffic. 2. @l EHE 3T ITaTaTa % I MRH o
Which of the above statements islm IqdE § § F-AYA FUT GE 278 2
(a) Both 1l and?2 (b) Neither 1 nor 2 uﬁ)o | 3fit 2 At (b) Far1d82
(¢) Onlyl (fi) Only 2 © et | () a2
N
: Arrange the following! Sen rulers of Bengal in ]
’ ascencing chronologicai‘tc;éder : : 3. Sme ¥ fAfafiad A9 TEE H AE HITHATTAR
1. Ballal Sen - e Fifor
2. LakshmanSen o4 . deEad
3. Hemant Sen 2. dEHwad g&%
4. Vijaya Sen 3. RWaEA -
Select the correct answer from the codes given below : 4 g T
(a) 4,3,2,1 (b) 2,1,4,3 = fow e e F & wet IR g
() 1,2,3,4 @ 3412 (a) 4,3,2,1 (by 2,1,4,3
4. Consider the following;‘:s] tements with reference to (c) 1,2,3,4 (d) 3,4,1,2
Bairam Khan : LN
1. Akbar gave the tit{é%f Khan-i-Khana to Bairam | 4 waﬁﬁqmmmﬁm(aﬁﬁq .
Khan. ysd . @Y W G A @E-CEET 6 I
> This title was hof given at the tim‘e of s up SRR & w E w  dor of
appo?ntment of Bairam Khan as Vazir of ﬁgﬁﬁ%mqﬁaﬁﬁ '
mpire.
Whic: o: the above statements is/are correct ? 3‘1@?5 T Y -G FY e /8 2
(a) Both1and?2 (b) Neither 1 nor 2 P};@ 1 3R 2 2T (b) FA17TE2
(c) Only ! (d) Only2 (c) Fael (d) e 2
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Write in descending order the following States on the
basis of their population as per Census, 2011 :
1. Bihar 2. Andhra Pradesh
3. Uttar Pradesh 4. West Bengal
Choose the correct answer with the help of the
following codes :
(@) 3,4,1,2 (b) 1,3,2,4
() 1,3,4,2 (d) 3,1,4,2
Match List-I with List-II and choose the correct
answer using the codes given below the lists :
List-1 List-I1
A. Human 1. International
Development Rdport Monetary Fund

B. World Economi 2.  United Nations
Outlook Environment
Programme
C. World Investmen®/_3. United Nations
Report Development
Programme
D. Emissions Gap 4. United Nations
Report Conference on Trade
and Development
Codes :
A B C D
(a) 3 1 4 2 ByE
(b) 3 4 1 2 @%@i
© 1 2 3 4
d 2 3 4 1

Consider the following events ahd arrange them in

correct chronological order starting from the earliest
to the last activity :

1. Pradhan Mantn Gramodaya Yojana

2. Rural Employment Generation Programme
3. Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the correct answer from the codes given

The following lists I and II show the names of
Economists/Authors and their books respectively.
Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-I List-1I
(Economist/Author) (Book)
A. Myrdal 1. Economic Theory and

Under-developed Regions
The Strategy of Economic
Development

B. Hirschman 2

C. Kaldor 3. Strategic Factors in
Economic Development
D. Adam Smith 4. The Wealth of Nations
Codes :
A B C D
(a) 1 2 3 4
b)) 2 3 1 4
(c) 3 2 1 4
(d 2 | 3 4
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2011 Y VAT F SFTER IH SHEET & AU T
¥ fafau -
1. fasr 2. YU WRW
3. IWWRW 4, qfgyg s
Frafafiaa g2 1 grmar & s ad s
3,4,1,2 .9, 9.4
o 1,3,4,2 (dy 3,1,4,2
6. %’r-lﬁ@-llﬁgﬁ%aﬁﬁqaﬁmﬁﬁ%ﬁﬁq
T %2 T Eﬁtﬂ?\iﬁi‘(ﬁﬁ?:
ge-1
A. ara faerg foad
B. fam i
c. fou fram fad T
D. Ic&oH I | 4. =mam oik fawa W Eg®
- -4
T A
3
(b) 3

1. TuUEEET o aeEn
v ] mﬁwﬂwmqmmn/
3. WUWHET TS G
4.  areHife sargEt FTaTE ST

TR T s
(a) 2,3,4,1 (b) 4,2,1,3
() 1,2,3,4 (d) 3,2,1,4

Frafafaa gfemt 1 st 11 srfmfe)/eest & Tm @
TR Qe 1 B qAT & | gl F Y g |
grfera Sifem i it & = fag T e &1 @ #=
F"fﬂ?a?f(ﬁﬁQ:

-1 elt-11
ErefmEt/aEE) (J9F)
A, fida I. RIS S U sieRaee ey
B. festim 2. RIS ATE IS aaTiie
C. Fest 3. Wi $eaed 3 U ez
D. @ﬁw 4. 2 30y A% =
* :
A B C D
(@ 1 2 3 4
J 2 3 1 4
(c) 3 2 1 4
@ 2 1 3 4
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9. Which of the following statements is nof true about | 9, frfafad Fort # & HIA-AT —_— *

“*ecological niche”’ ? aAgd aER? .
(a) Dominant species occupy extensive and broader (a) ¥9d wefeat ﬁl’F(jﬂ U =TS Fam
ecological niche. FAAE
(b) Number of species becomes large in ecological (b) pleaGEd grfeufas dF ¥ uitffada feq §
niche of natural ecosystem, if resources are qﬁi dare i &, @t wenferdt i s qem |
sufficient. STt R
9/ Number of species becomes small in ecological aiffeafidra frira # afe daA @ia & @
o nDiche., if resourc;:s ar? sulfﬁcient. ) © ot ) T FAA TR
ominance of ' single species becomes ' o Y faraor gran
- R frelt aTraTe & GETAT A 2
minimum if the resource distribution is (d) e Tt i;‘ﬁ Wﬂ A maTe | )
equitable in a habitat, @l Thet eakok Ll §
. : Tafea fifre ok gt & =2
10. Match List-I with List-II and choose the correct |10- @'I i Hﬁﬁ ¥ = fyu . - h =
answer using the codes given below the lists : T FTHE I AT
List-I List-II weft-1 r g1
(Biosphere Reserve) (State) ( . )
A.  Simlipal 1. Kerala . A. feeft k—/l T
B. Nokrek 2. Odisha B. A 2. e
C.  Agasthyamalai 3. Assam C. ST i
D. Manas 4. Meghalaya D. HFd 4
Codes : *e
A 5 c b A B C D
; " i 3 (@ | 2 4 3
(@) £y ® 3 1 4 2
® 3 1 4 2 ok 0 2 4 3 1
(c) 2 4 3 1 &/ 5 4 | 3 E&%
M2 o413 o
11. F=fafias st w famm fif -
11.  Consider the following statements : 1. A7 e saEeie et F i sfiegar w
/ . Scientific investigation depends on gommitment ffta 2
‘ to practical ideals. -
p 2. o & darertt okt &9 & wewergel 2

2. Honesty is panicula}lj/ important in science.

(a) THTHYA | A2 THE|

Select the correct answer frdm the codes given below :
(a)  Both statements 1 and 2 are correct.

(b)  Both statements 1 and 2 are incorrect. (b) T o 1 3 2 e
(c) Statement | is correct, 2 is not correct. () F 18R, 288 TR
(d)  Statement 1 is correct, 2 is unpredictable. \}(ﬂf F | G R, 2 Ay R )
12. Which of the following is the correct order of plant 12. ﬁq%ﬁg—d T8 B 3o freet o & dt
species from higher to lower order ? wetiferit T wt ohm 2 0 —
(a) Class — Phylum — Order - Plant Kingdom (a) & -9 - 07 - qrEy s
(b) Order — Class — Phylum — Plant Kingdom \ﬁ) T — WY — gy 9
(c) Class— Plant Kingdom — Phylum - Order (c) I —qrey e — Y — oy
(d) Plant Kingdom — Phylum — Class — Order (d) 9TRY ST — HY — oy
.4. -----------------------------------------------------
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Consider the following statements with reference to
the Justice Party :

1.  The Justice Party opposed Congress by calling

it a Brahmin dominated organisation.

2. It claimed the same communal representation

for non-Brahmins as the Morley-Minto reforms
had given to Muslims.

Which of the above statements is/

/(a?) Both 1 and 2 (b) Neither 1 nor 2
(©)

Only 1 (d) Only2
14. Consider the following statements with reference to
the Workers and Peasants Party :

1. The Workers and Peasants Party was formed in
1927 and was given the form of an All India
Organisation.

2. The objective of this party was to work within
the Congress so that it could be made a more
revolution inclined party and an organisation of
the common people.

Which of the above statements is/are correct ?

(a) Bothland2 (b) Neither 1 nor 2

(c) Onlyl (d) Only2

15. Consider the following events and arrange them in
chronological order :

1. East India Association @%{%

2. National Indian Association 05

3. Indian Society

4. Indian Association

Select the correct answer from the codes given below :

(@ 1,2,4,3 () 1,3,2,4

() 2,1,43 d 1,2,3,4

16.

Consider the following events and arrange them in

correct chronological order starting from the earliest
to the last activity :

1. Royal Indian Navy Revolt

2. Announcement of Cabinet Mission

3. Formation of Interim Government

4. Armival of a UK Parliamentary Delegation in
Delhi

Select the correct answer from the codes given below :

(@) 4,3,2,1 b) 4,1,2,3

() 4,2,1,3 (d 2,4,1,3
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13, ifiey widl 3 aeesd § Frerferfiad e g ferem it -
1. few wé ¥ Him w oy 38 T S
T TS e R |
2, wﬁﬁ'{-m'@vﬁ%%qaﬁﬁmﬁmﬁﬁﬁﬁla
1 e Fran e o wrel-fie AR e
& feam am)
U | W R0/ o G /e
M) st EE (by AAT1AE2
(c) wFad | (d) Hae2
14, (T4 e e mA\E wd i et FeE T
faam fifse
1. o U fsize i w1 e 1927 § g SRS
e Aflger T T o ' femm |
2. @ IS 1 IRIW FUF F ITd & HH HEAT AT
forad gaent At shifaerrll oA areft 9 K
ST S(AT FHT VTS 141 ST G |
ITIH B W FH-A/R FoE R 2
_/Laé/ | 32 At (b) TA19E2
(¢) Fad 1 (d) +aw2
15, Frforfigd wemel w fomm fse qor 2 Frergra &
sqaftud e
| sfe v (@6 © )
2. AvE e i i
3. SfemaaEEd
4. Ifemaafao
e e e 7 & & wd I A
(@) 1,2,4,3 ®) 1,3,2,
() 2,1,4,3 (D 1,2,3,:-]
16.

frafofas ot w e fifve @ = @@
FIATHA B rafiord S, el deet & e sl
BRUGIEIDEC

. ot andE e e —

E 2. ¥R fmafigmn —19e5
5,

Al g 1 e
4. fafow vodim wiatfnisa = Rl & strms
e fe e e % & w ww
M 4,321 W) 4,1,2,3
(© 4,2,1,3
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With reference to the Age of Consent Act, 1891 [

consider the following statements :

I. It was Behramji Malabari, a Parsi reformer
from Bombay, who advocated for this
legislation.

2. The Act was supported by the extremist wing
led by Bal Gangadhar Tilak.

Which of the above statements is/are correct ?

(@) Only2 (b) Neither I nor 2

(¢) Onlyl 4 Both | and 2

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R). 18

Assertion (A) : Shivaji had to face opposmon from

the big Deshmukhs.

Reason (R) : These Deshmukhs were not in favour

of an independent Maratha State and wanted to

remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :

(@) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) (A) is false, but (R) is true.

(c) Both (A) and (R) are true, but (R) is mot the
correct explanation of (A).

(d)-- (A) is true, but (R) is false. %%J

OB

Which of the fc;lf(‘)Wing reasons caused cétastrophic

coral bleaching and mass coral deaths in the

Andaman and Nicobar Islands ? 19.

(a) Increased industrial activities in the coastal
regions

(b) Increase of 2°C temperature in the Indian
: Ocean

(<) lHeavy marine pollution

(d) Decrease of temperature by 4° C in the Indian
Ocean

Consider the following statements with respect to

Ashoka : 20.

1. The definition of Dhamma given by Ashoka is
taken from “Rahulovada-sutta”. ‘

2. In the 14th year of his coronation, Ashoka
appointed a new type of staff called

Dhamma-mahamatras.

Which of the above statements is/are correct ?

(a) Bothl and 2 (b) Neither I'nor 2°

(c) Only ] (d) Only2

------------------- ‘g
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._______.__&l————'—_—_"’
Tt ot feram T -

| g e 3 e T T, ST AT
ﬁ@%wwﬁﬁmmﬂ'

5 Wﬂﬁﬂﬂﬁwwm%ﬁ@aw
odreft w3 qEe fear o

mﬁﬁmm@ma‘eﬁ%@"

(a) *Had 2 (b) Fa 1982

(c) *ad 1 (d) 1M 2TH

3 2t o g e 3, ot @ @ Y AR (A) T
TALHT HTT (R) FE1 TN

stfvro (A) : firarsht ) 7 2w & fort =1 A
FET TS |

FWU (R) : &%m@mmm%wﬁﬂiﬁe‘:

ﬁtm%wé’raﬁmmﬁﬁr

A e e & & wdt IR AT

\)ﬂ’ () 3 (R) 3T T E 3 (R), (A) 1
T FATE |

(b) (A)Tad 2, g (R) FET R |

(€ (A) 3 (R) T @@ 2, T (R), (A) FF &&
ARAT T FATE |

(d) (AT fFgR) TR

sigwT o P e i Frferfiaa i & fir A
¥ o) STl Rt ger au Al # e 9
g oft 2 e
(a) v dnit i s it gfy B9

e wreTaTT & qr # 2° C i 3f
(c) T EITE SEw
(d) f&= weETR & amHE o 4° C Y FH

319k o g 1 Frafafias wuat w famm fifse

1, o9 ¥ um f W ufymr & R aw

g A Al T R
2. IS TSI & 149 99 T 3790 T arHemS

FTHeh Teh A T o ettt o Frafen 1 |
I & HH-AE Fo w2

I 3R 2 gt (b) TaAIAL2
(c) o | (d) Fae 2
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21. Whtic;\ dc;ne of the following is nmot correctly 21. ﬁqmﬂﬁﬁaﬁf{.mqaﬁﬂﬁ ﬁ%"ﬁ THE

matched ?

(a) Article 153 - Office of the Governor (a) 3“!@? 153 — TSEITA F19e

(b) Article 154 ~  Executive Authority of the (b) :ﬂqﬁz 154 _ {SAdTe o T ST

Governor n : %
(c) Article 155 ~— Removal of the Governor w T2 135 - il
(d) Article 156 —  Term of the Governor (d) 1T=82 156 AT 1 gerEty (2H)

72. Which of the following
Constitution of India ?

is/are stated in the
—

22, T % "iauw § frafafas § @ w=n st e 2

1.  The President shall not be a member of either of 1. usgafd gog & ford) ofi v &1 9= 7€ 2 |
the Houses of the Parliament.

2. The Parliament shall consist of the President

and both Houses.

Select the correct answer from the codes given below :

(a) Bothland?2 (b) Only2
Only 1 %
[GE:

(¢) Neither 1 nor 2 (d)

@ Consider the following statements :

An Amendment to the Constitution of India can be Ww ferar s

initiated by the :
1. Lok Sabha 2.
3. State Legislatures 4.

Rajya Sabha
President of India

Which of the above statements is/are correct ?
1 and 2
(c) Onlyl (d) 2,3and4

(a) 1,2and3 (b)

24. Which of the following are the functions of the

Election Commissioner of India ?

1. Conduct of elections for the posts of the Speaker

2. TEE Ueld 3 a1 et & faetet s |
i fog mu e # | W I

1 3T 2 gt (b) FaeA 2
(c) TAT17d2 (d) a1

@. forerferfiae o o faem Hifve -

WT%:

1. S aaT g 2. TST 8T g

3. Tod faumget g0 4. s 3 At g

I § | -/ FUA 9 82 7

@ 1,233 A 132

(c) a1 (d) 2,334 %
24,  ¥a & frated o & Pefafgg g Sma s & 2

wmw%maﬂtmwmm%ﬁ

and the Deputy Speaker of the Lok Sabha and TR 3 Tat 3 for et e )
Deputy Chairman of the Rajya Sabha.

of the Municipal wwmmqﬂ(w&?mﬁaﬁaq

Corporations and Municipalities.

3. Deciding on all doubts and disputes arising out of 5 3{;@;5 fate § 3= off g2 ok faEEt =5t

2. Conduct of elections

HEMT |

the above elections. ot
Select the correct answer from the codes given below : ) fEQTTQﬁZ 59 e 3 :
(@) 2and3 (b) land2 I
() land3 (&) None of the above (a) 2¥#W3 (b) 132
o) 133 % 9 '
25.  Which one of the following is not correctly © S EEELE
matched ? ' .
(@) G.VK. Rao _ Planningatthe |25, TG 5 W H-61 o et e 74 2 0
Committee Block Level (a) Stk el - gEsw w e
(b) Dantwala Committee — Rural Credit (b) T AR -
¢c) § i _ Panchayati Raj .
(¢) Santhanam Committee Financgs /ﬂ‘ g affa — 9= sy B
(d) Ashok Mehta ~ Panchayati Raj (&) R dEmEfEf - oo oW Gemd
Committee Institutions
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Which of the following is the correct sequence of
phases of Biotic succession ?

(a)
(b)
(c)
(d)

Ecesis — Migration — Reaction — Stabilisation
Ecesis — Migration — Stabilisation — Reaction
Migration — Reaction — Stabilisation — Ecesis

Migration — Ecesis — Reaction — Stabilisation

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Relative humidity decreases with
increasing air temperature.

Reason (R) : Absolute humidity increases with
increasing evaporation.

Select the correct answer from the codes given below :
(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct
explanation of (A). -

(A) is true, but (R)'is false.

(®)
(c)

(d)

Which one of the following is correctly matched ? C
(a) Ecocline —
(b)
(c)
(d

Biodiversity ~
Pycnocline — Sea water density
Thermocline  —  Air temperature

Halocline — Sea water temperature

Match List-I with List-II' and choose the correct
answer using the codes given below the lists :

List-1 List-11

Planting Hearth . 1. Hungary
Adolf Engler
C.O. Sauer

Arctic Tundra

Cryophyte Steppe

A
B.
C.  World Floral Regions
5 ‘

B W

Puszta Grassland
Codes :
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32.

3.

Which one of the following pairs (Aluminium
Plant — State) is not correctly matched ?

(a) Alupuram (Alwaye) — Kerala

(b) Belagavi — Kamataka
(c) Muri - Chhattisgarh
(d) Hirakud - Odisha

Which of the following pairs (National Park -
State/Union Territory) is net correctly matched ?

(a) Rajaji Uttarakhand

(b) PinValley - Jammu and Kashmir
(c) Bandipur - Karnataka

(d) Simlipal = - Odisha

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Himalayas are still rising.

Reason (R) : The Indian tectonic plate is colliding

with the Eurasian plate.

Select the correct answer from the codes given below :

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true and (R) is the correct

explanation of (A).
(d) (A)is true, but (R) is false.
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0. frfefan i (ghfomeouw § W
FH-41 el gifera 7 2

(a)  SIPH (FTar) - &
(b) stemft - FAh
O At _ e
(d) EﬁT@‘g ~ offem
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FH-81 qe gofora 78 2 2
(a) T&RT - IwEs
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(c) &R - FAEH

(d) fomeforer - sfifem

32. AR FE R E G @ o S AR (A) T
TA I HI (R) FT TR |
atfirmu (A) : R seft ft S AT T 2
mmyh’r&ﬂaé@ﬁm@zﬁﬁm@zﬂmm
2l
ﬁﬁqma@ﬁﬁwwaﬁq
(a) (A)W(R)Eﬁu’zﬁ% 7 (R), (A) #Fi @&l

TET T AT £ |

(b) (A)TeE e, g (R)WE R |
&r (A) 3 (R) 2T Wt & 3R (R), (A) ¥ &

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-I Listll  Ey2
(Coal Resources) (States)
A. Hutar 1. Madhya Pradesh
B. IbRiver 2. Chhattisgarh
C. Tatapani — Ramkola 3. Odisha
D. Umaria 4. Jharkhand
Codes :
A B C D
@ 3 2 4 1
® 2 1 3 4
© 4 3 2 1
d 4 2 3 1

@ Adda247 Telegram Channel

T FWATE |
) (A wER, g R) TR @@
3. wlﬁnﬁqnﬁg&mﬁﬁmﬁwﬁzﬁ%:ﬂéﬁq
Wfééﬁrmﬁaﬁrmgﬁq
lﬁﬂl.-. g1
(FHet isT) @9
A TR (; 1. 7AWy
R 2. SETg
C. TN - | 3. offew
T:!\\'t.":
A B C b
(@ 3 2 4 1
®) 2 1 3 4
c K 4 3 2 1
(d 4 2 3 1
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Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-1 List-1I
(Canals) (Rivers)
A. Upper Bari Doab Canal 1. Sutlej
B. Sirhind Canal 2. Yamuna
C. Gurgaon Canal 3. Sutlej, Ravi, Beas
D. Indira Gandhi Canal 4. Ravi
Codes : : ‘
A By C D
(@ 4 i T
®) 3 Y 4
(c) 4 1 2 3
d 3 1 2 4
Which one of the following pairs
(Crop - Peculiarity) is not correctly matched ?
(a) State where rice is grown — West Bengal
three times in a year
(b) Bihar’s contribution to - 157%
rice production
(c) State wit‘hélérgest area — Uttar Pradesh
under rice‘production
(d) Isohyets that decide — 100 cm
western limit of rice
productién '

Consider the following statements with reference to

cotton crops : C

1. Cotton is mostly a Kharif crop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.

Which of the above statements is/are correct ?

(a) Bothland2 (b) Neither 1 nor 2

(¢) Onlyl (d) Only2

Given below ;retwo statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Red soil denotes the second Jdargest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the
south, east and north directions.

Select the correct answer from the codes given below :
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(b)
()

:@

37.

& Adda247 Telegram Channel
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Google Play

o g 1 T e I I
el -1
a7 il
A FoftaddemETe g 1 FOdT
C. Tga AR //13' A, T, =
D. sf=u it T8t 4. T
W:A B C D
@ 4 1 3 2
® 3 2 I ;‘ e
4 1 3 Ble
/(g; 3 ll 2 4] E]’gﬁ
35, fafafas ol (Fee - fawa) & & @AW
@) At faEa R AR - gREE e
¥er & aTeAT TST
i |rae IedTed A gm0 - 15:7%
e
(c) T IeTEA & ST ~ W
gaffis gaee arat TsT
(d) e Jeare H iyt — 1008
i fruffa w0 areft
quayt @r

FIE FEel & e § fefafiaa wut W faEn
Fifse :
FITH T GUF A |

L.

2. ®UW & I ¥ fog af¥w s0 @ 75wl
T T A St B 2 |

39 7 ¥ HH-A1/A F qE 2/ 7

(a) 13M23MA by, T 1782

(c) wad 1 Fad 2

= 3 o few e B, e & o @ st (A) q

ZE T FT (R) FET TR |

i (A) : I 931, YRA & O a9 YT 99
FI et |
HROT (R) : ATA §aT, Hieft JaT i afdqur, gd 3l 3w
feamati @ Ot

Hre fow T e | @ wet W g
@ (A) 3N (R) 36T wdt € iR (R), (A) F &
ST FAT ¢ |

(b) (A) TR, fbg (R) WL R

I (A) 3 (R) 3 T E, R (R), (A) B
T T FETR |

d) (AT fFgR) @R
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;]8 Match Liél—l with List-lll and choose. the correct|38. g1 =1 T=h-11 & gafem dife 3 yfea & #= fee
answer using the codes given below the lists : T e T T4 & H‘tﬁmﬁﬁq ;
List-I List-11 @-1 -
(Name of the City) ﬁz:::;;)fbeing ﬁa SR A @
) A. g A
A. Kanchipuram . Post-independence L
B. Jaisalmer 2. Colonial Period B. SHeR 2. shafafi e
C. Kodaikanal 3. Medieval Period (M 3. HESHA
D. Bhilai 4. Ancient Period D. fiemg 4. gA ES
Codes : & :
C D
i B A B C D
@ 2 ; ! 1 2 3 4 1
o2 (a) ~
@ 3 4 1 2 . w © 1 2 3 4 23
@ 3 4 1 g
39. Match List-I with List-Il and choose the correct
answer using the codes given below the lists : 39, Hjﬁ-l e Hj’i—ll q gﬁrﬁ—m Fife it H'fﬂﬁ & = ke
List-1 List-IT T T FT TAT H I A
(Famous Local (Place/Area) Q?ﬂ—l F:ﬁ-ll
Storm) OIS T %) (ET/517)
A. Mango shower 1. Punjab to Bihar A. TH gt 1. Y999 ¥ faeasw
B. Blossom shower 2. Kerala B. Fﬁmm -t
C. Norwesters 3. Karnataka Coastal Areas C. wE-aTE T FAteE &
D. Loo 4. West Bengal D. q ‘TF&F[W
Codes ¥z : L
A B C D =
A B C D
(@ 3 2 1 4
3
G 4 1 3 2 @) P4
© 3 2 4 1 @b) 4 1 32
@ 1 3 2 4 Vm 3 02 4
d 1 3 2 4
40.  Which of the following pairs is not correctly
Htehed 40.  Freafeafian & & e gm wd gifew 742 0
Capital Country AT o _,'!
(@) Naypyidaw —  Myanmar (a) TuefiEl _ ofaw ’)“
(b) Khartoum —  Ethiopia @'l?tq — T !
(¢) Dublin — Ireland (c) Zfem - e
_________ (d) Ottawa — (Canada (d) m —  FHATET

=
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41.  Consider the following statements with reference to
er Gangetic agro-climatic region™
I, This region encompasses central and western
Uttar Pradesh.
2. This region has more than 130% irrigation
intensity and 140% cropping intensity.
Which of the above statements is/are correct ?
(a)  Both 1 and2 (b)  Neither I nor 2
() Only | (d) Only2
42.

Match List-I with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-IT

(Pass) (Height;f-r;m Sea Level)
A. Debsa 1. 5360 miFl’:ges
B. Rohtang 2. 4850 m;:trés
C. Bara-lacha 3. 3978 m;u;s
D. Banihal 4. 2832 metres
Codes :

A B C D

(@ |1 3 2 4
®b) 3 1 2 4
€ 1 4 2% 9§ e
@ 3 1 4 2. =

N
L
43. Given below are two statememrg;:fme is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Jute is an 'mdige!.noius plant of India.
Reasw (R) : Jute is a Kharif crop sown from
February tolune and harvested from July to October.

Select the correct answer from the codes given below :

¢

(b) (A)is false, but (R) is true.,
(c) Both (A) and (R) are truf, but (R) is nor the

correct explanation of (A). : #.
L |

(d) (A)is true, but (R) is false.,

Both (A) and (R) are true and (R) s the correct
explanation of (A).
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D.STF-1 2
ey & P w! i Fraferh,
_ a7 3t o ofrt IO A faega 2
g i foed T 130% 8 3 g,
BT 140548
3 fow g e & ) ST
yﬁ) | 3t 2 2t (b) FdrTE2
() e | () F2

i1 #1 g1 @ gafera Afor i g = fi
T % 1 FANT G IR AT
aeft-I T
(;-(f) (@93 7 @ Fr3)
A. 5@ 1. 5360 #ieX
B. qgamm 2. 4850 e
C. g amET 3. 3978 et
D. s 4. 28327
ajd.‘:
A B C D Efig%'
(@ 1 3 2 4
3 1 z‘ 4
() 1 o 1
(d) 3 1 4 2

ﬁammmﬁ,ﬁﬁﬁ@ﬁaﬁwm)w
A H FT(R) FRTTATE |

W(A):FE:’WW%WW%|
FRUT (R) : Fg@ﬁtﬁﬁm%,ﬁlﬁmﬂ%ajﬁ
SR S R o T & ST 5 e e i 2

(@ (A) 3R (R) 3 @t § aix
AT FEAT R |

(A) T 8, g (R) T 2|
(A)aﬁt(R)aﬁua%%,ﬁ;g
ST T T 2 |

(A) TR, g (R) et 2

(R), (A) &I @&l

(b)

© (R), (A) $I @
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%&q Match List-I with List-II and choose the correct
44. i codes given below the lists :
answer using the g e lists :
List-1 List-11
(Essayist) (Treatise)
A. Devana Bhatta 1. Dan Sagar
B. Hemadri 2. Parashar Madhav
c. Madhvacharya 3. Chaturvarga
Chintamani
D. Ballal Sen 4. Smriti Chandrika
Codes :
A B C D
(b) 1 4 2 3 E&@n
@ 3 2 1 4 &
(d 4 3 2 1
45. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Turkish invasion on India was
successful.
Reason (R) : There was no political unity in North
India.
Select the correct answer from the codes given below :
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A). .
(b) (A)is false, but (R) is true.
(¢) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(d) (A)is true, but (R) is false.
46.

Consider the following statements regarding Voice of
Global South Summit (VOGSS) :

GET IT ON
Google Play

D.STF-1-23

44, @—lﬁ@-llﬁ@%ﬂﬁﬁqﬁﬂﬁﬁa‘:ﬁ%
faw o %z 1 s A wd I A
>0 qeft-| we-11
EELEA) HGEL)!
A. A NE |. HAER
B. A% 2. U HTEE
C. "yarEd 3. aqa feamfor
D. Seare #4 4. wfa Ttz
e
A B C. D
@ 2 4 1 3
® 1 4 2 3
() 2 1 4
@@ 4 3 2 1

= 31 FoA fRu e E, e @ ww B Al (A) qen
ZEFT H (R) FE TR |

oo (A) : T I T ATHHI HheA E377 |

W(R):_mwﬁmﬁﬁ%ﬁmﬁﬁﬁ\ E’%‘%

e frg e e & e S I ©~

(a), (A) TUT (R) aH1 & & 3 (R), (A) 1 @&
ST T 2 |

(b) (A)TEaE, R R) EE R

(©) (A) @ (R) a1 @&l 2, f6g (R), (A) &1 @&
T T FAT R |

d (AR FgR) @R

46. (AT 3 il |9y afire @.ﬁ.\‘vﬁ.@?) F Hey

. T e O T
l. India recently concluded its 2"¢ Voice of )
- u — 1. 9@ A & & H A9 qqU aRy 3% e
Global South Summit. | Rrewrdiy B 2|
2. The term Global South is related to developed g "
countries. 2. SESEIE RSOk N A Eefua |
Which of the above statements is/are correct ? TG H & B T T 2R 2
(@) Only2 (a) %ﬁ?ﬂ*
(b) Neither 1 nor 2 (b) T@I1TE2
(©) Only | y&' e |
@ Both1and2 () 13h2RTY
------------------------------------------------------------ T B SR oo
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Assertion (A) and the other as Reason (R).

Assertion (A) The concept of Sustainable

Development was popularised by the Brundtland

Report. ‘

Reason (R) : The Brundtland Report is also known

as * The Limits to Growth”.

Select the correct answer from the codes given below :

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(b) (A)is false, but (R) is true. .

(c) Both (A)and (R) are true and (R) is the correct

explanation of (A)..

(A) is true, but (R) is false.
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What does the Intergovernmental Panel on Cli W% iy 4
i imate/ 47,) fE3E o ¥
Cha‘nge (IPCC) emphasize regarding reductions :I@ @;’WE_-_/__EIUH(WW (:m‘.di.a“r.cﬁ.)&.p
greenhouse gas (GHG) emission ? e\
1. Gradual apd limited reductions are enough. 'l"_—;ﬁ;aﬁfmﬁaa?a?ﬁ e |
2. Deep, rapid and sustained reductions are essential. ' el i aft ﬁ'{?{tﬂ?ﬁ HEAEF £ |
Select the correct answer from the codes given below : 2. ! ﬁuﬁ’f?ﬁﬂ'ﬂﬁ"{ :
(@ Bothland2  (b) Neither | nor2 e g my e A ol
(c) Only 1 (d) Only2- @ 1sf2dE O
" | © ¥l () w2
- What does the term “Cereal Yield” refer to ? ﬁ ST 39 T me% ?
1. The amount of cereal crops Mmit are - ' I Iqrfeq
i produced per unit are — P
of harvested land L4 _/ L. aﬂ?ﬁ?ﬁ‘ '@  ofd ok 4 A g
2. The total production of cereal crops in a given e 61 T : y
country el ey 2 7 el 1 1 T
Select the correct answer from the codes given below : :ﬁ%ﬁqméﬁzf{ﬁﬂiﬂ M %ﬁm :
(2) Both | and 2 (b) Neither | nor 2 @) 132 dmt (b) TAITE2
(c) Only1 (d) Only2 © %1 (d) Fad2
49.  Which of the following statements is true regarding 49. W‘Wv 2019 W@'——‘—- I” d '.:2022 % Q‘TE
the trend of unemployment rate in India between E & ST & Sl g4 & HeY % fafafaa o ¢
July-September, 2019 and J uly-September, 2022 ? FH-H1 YL G & 7
;. {t rdemgined the same. .  FEferT
S;:lect ttheegljlfredé fi i 2 AR
‘ ec ans'wer rom the codes given below : ﬁﬁﬂ’ﬁ?ﬁagﬁmﬁﬁq :
(a) 2istrue and 1 is false. T 2 aik ?
(b) Both 1 and 2 are false. ) 2 -l W !
(¢) 1 is true and 2 is false. 1 3t 2 2 e € |
(d) Both I and 2 are true. (© 1 HE‘T%SﬁI.ZW%I m%?
50.  Who prepares/publishes the Global Multidimensional 32 I FE 2 | : o
Poverty Index (MPI) report ? (:SD e sgsmard T geFE g s ol #e
I. World Bank and International Monetary tFund AT e & 2
(IMF) fag 3= it sraaiedia w1 iy (mE.an
N . )
2. Oxford P d World Health y s > .
(WHO) overty an or ealth Organisation S nﬂaﬁaﬁtﬁﬂwmm@.ﬁ.)
3. Oxford Poverty and Human Development 3.mwwﬂénﬂa?aﬁ{mﬁmaqﬁ(3ﬁvﬁ.®.:ﬂﬁ.)
Initiative (OPHI) 4. 6gh g fashre sy (3.0 2 )
4. Umtedp) Nations  Development  Programme ﬁ%ﬁqwgﬁﬁaﬁraﬂtgﬁq:
Select the correct answer’ from the codes given Q{ 2314 (b) T4
below : L) i o 1 34 . Ad) 334
(3) 2and4 (b) Only 4 uﬁgﬁi 51, " @ e Ry e &, R & o 1 v (A) @
(c) land4 (d) 3and4 " ZEL HI FHT (R) FET L |
§1. Given below are two statements, one is labelled as arfrme (A) : Hdd o it YT & azégjq\i

EL ST T |
HNWT (R) : siets Fad &1 “fawm 6 daraii $ w0 d
st ST ST 2

Ao faw e e 5 4w s gf
A) T (R) 2FT |t

(b) (A)TEEe, T (R wA R

(€) (A) @ (R) 3T &t ¥ 3t (R), (A) H T
T FATR |

(d) (A TR, o (R) T R |
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D.STF-1-23
Consider the following events and arrange them in |52, fr=fafigg gearen w fo=w fifsg U Eaadl
chronological order : HIAFAE srafterd IR :
1 world Heritage Day @%% | fg faed faw
2. world Thyroid Day By 5 ﬁg urstee feaw g&%
3. world No Tobacco Day 3. ﬁwm@ﬁﬁﬂﬁaﬂ e
4 International Day of Light A A e e
Select the correct answer frolm the codes given below : 3 ﬁ.'l{fm?ﬁ F & gel I ﬂﬁq .
@ 31,24 ®) 14,23 (@ 3,1,2,4 (b) 1,4,2,3
© 2314 (d) 4,2,3,1 i 58 14 @ 42,31
Match Li‘st-I with List-.ll and ch()ose. the correct P N | e aft qu‘!ﬁ F = fRg
answer using the codes ‘g'wen below the lists : TT"\I‘GQZE?! E;TﬁTIEF( H’ﬁa ket %ﬁ_q;
List-I List-I1 il .
(Person) (Reason) (%‘ITUT)
A. Gopi 1. First Indian Gymnast to win 3 woh S
Thotakura Gold at Asian Championshtp - aﬁﬁqﬁm qgr«ﬁégu ﬂ'ﬂ?ﬁﬂ! A 3
B. Dipa 2. Indian born NASA scientist e 3 =t NASA 2 &
Karmakar who led the team to study P ATAHEE T T
solar ecliptic impact on Eeaet 3 YT FT AT P
ionosphere 7 a‘]ﬁ’[c‘efmﬁﬁ'@ﬁlm
C. Aroh 3. First Indian Space Tourist | qEe T siqfe gdew
Barjatya
D. De[\jl lztel 4. British actor who made his D. TP 4 Fafesr sthirra el e <wh
directorial debut with thriller ¥ gy S ﬁw &
“Monkey Man” wE
Codes : A B C D
A B C D @ 4 1 2 3
a) 4 1 2 3 3 1 2 4
Eb)) 31 2 4 E‘{T 3 2 1 4
) 3 2 1 4 \:ﬂ 2 1 3 4
@ 2 1 3 4 _
54, 9 Q@ few o ¥ A o @ e (A) T
4. Given below are two statements, one is labelled as EﬁﬁW(R)ﬁTW%I
Assertion (A) and the other as Reason (R). atferwerT (A) : 2023 - 24 ¥ A w 9T ¥ FDI
Assertion (A) During 2023 —24, Singapore E{Hﬁﬁﬁ@ﬁm@ﬂ I
emerged as the largest source of FDI to India. FWOT (R) : WA - WRITHE & 6 gvia § Wi §
Reason (R) : The India — Mauritius Tax Treaty werer faeeit Frdm (FDI) 3 s vl & w & 3w i
amendment hasw REDDIES 25 T TS AATR |
major sources ofFBI__t_O__ILlQE‘_; ﬁﬁqmagﬁﬁaﬁmgﬁq:
Select the correct answer from the codes ghven BETOW @ () 7u R) 3 w@ 2 B (R), (A) B A
1) Both (A) and (R) are true, but (R) is mo the TG TE FAR |
correct explanation of (A). (b) (A)TEEE, ﬁﬁ (R)FEE |
(b) (A)is false, but (R) is true. ' t b/@) () T R) F T ¥ R (R, (A) B @
(¢) Both (A) and (R) are true and (R) is the correc T T R |
explanation of (A). @  (A) q'gﬁ%, R ®) —
<9 (A)is true, bue (R) s false. e g = s e
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lc)
" - TM w12 ?
5. Whatis R21/Matrix-M™ 2 s5. Rzl/AfgEM T S Tt
. . y ~— e 3T 3 %
(a) Vaccine against Malaria developed by Serum (a) Hw
Institute of India ftgere T
ST faepfea ot
(b) Vaccine against Malaria developed by Bharat y S ipiced & >
Biotech International faee T
(c) Vaccine against AIDS developed by Serum £ ite: S (0 A sit ¥feam &0 T
Institute of India Raetre T
(d) Vaccine against AIDS developed by Bharat aTd SReE ErACNEC IR fowfld TeH ¥
Biotech International figems del
. | e 1 o Hfead, 2024 & 3
6. Who among the following won the best actress award s6.  Frefeas & & SfraT 2
in the Un Certain Regard:category of the Cannes l!ﬁ?li'llé it § g mlh?ﬁilﬂiﬁif
F- b - r)
ilm Festival, 2024 ? (a) Toram Srreat %
(a) Kiara Advani ORI 9
(b) Anasuya Sengupta (c) IJuft Qe
(c) Urvashi Rautela Eﬂ%NTET
(d) Sobhita Dhulipala
(9 G- e o weand 3 faaferfaa & F P
s H‘a"r%/%‘ ?
37.  With reference to RudraM-1I Missile, which of the ) .
following statements is/are correct ? ug‘a'an-ﬁ-gaTﬂImEF{.ﬁ el ; S
1. It is an air-to-air missile. 2. g 2024 B TS I.ﬁ febaT T o |
2. It was tested in Rajasthan in May 2024. ¢ = fag e e & @ @t s g
Select the correct answer using the codes given below : (a) Fad 2 (b) FaAr1TE2
(a) Only?2 (b). Neither | nor 2 (c) Fadl (d) 1323t
(c) Onlyl () Bothland2 7, !
‘ h 58. g1 ® g1 ¥ gafora Aifse i it F A= kg
8.  Match List-I with List-Il and choose the correct Wfdﬁmﬂﬂﬁﬂﬁmgﬁq
answer using the codes given below the lists : q\iﬁ_[ gei-I1
List-I List-I1 ([d Fatfaa 17 7E) (@)
(Newly Elected Head (Country) A. TaEE =T 1. 3gEAS
of the State) o <
B, @ATMHAMT ~___—2 faraaam
A. Gitanas Nauseda 1. Iceland g
B. Luong Cuong 2. Vietnam C. goan ZmaEifR 3. foryenfrn
C. Halla Tomasdottir 3. Lithuania D. aﬁgmg%—,ﬁ 4. GAmET
D. Jose Raul Mulino 4.  Panama
Codes R -
A B C D A B C D
@ 4 1 ) 3 (a) 4 1 2 3
(b) 3 1 2 4 (b) 3 1 2 4
Ok
@ 2 v 3 4 (d)2 _____ S
--------------------- *16 * B e

. Adda247 Telegram Channel

AddaZ47 Instagram



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

—tis)

a2y

D.STF-1-23

which one€ of the following pairs (Deccan Trap 1@ i Ttﬁ (@ 7 - ferdream) & & Far @d
Peculiarity) is not correctly matched ? e w2 7 - ==

(a) mAIAIUEE - @ 1200 HiE
(b) ik moradiaer - @mmE wEa S sqge

1200 metres
approximately

@ Depth of middle trap

(b) Intertrappean beds Fossils of sea plants

- F 7aYy (SfaTe)
and animals © ﬁﬁ?q?ﬁ el 150 HreT
©) Depth of lower trap — 150 metres
approximately (d) G?‘Tﬁ?“ﬁm _ ST 450 "X
(d) Depth of uppertrap  — 450 metres
approximately 60. 3 Fum Rumw &, f & w0 AT (A) TUT
TE T FAT (R) FETATE |
Given below are two statements, one is labelled as I CC (A) : FGICRELE] REe F = @t T ?__2
Assertion (A) and the other as Reason (R). Ull'lﬁ, =78 aw # ey arsht Tﬁ e L m% |
Assertion (A) : Jet streams discovered during World . fapeft wfer
FIOT . gy Bl 99TE 00 — 500
war I1 are high altitude easterly winds. 13 I(R) L i Tk 3
Haa
Reason (R) : Jet streams flow with a speed of X
300 — 500 km/hour. et fe e e # & wet 3w I -
Select the correct answer from the codes given below : (@) (A) IR (R) AT T £ 3t (R), (A) & G
(a) Both (A) and (R) are true and (R) is the correct il 2l
explanation of (A). (b) (A)TEd 2, g (R) wE B |
(b) (A)is false, but (R) is true. ‘/(w (A) 3 (R) ¥F1 &&t &, fvg (R), (A) R |
(¢) Both (A) and (R) are true, but (R) is mot the =TT TE FAT R |

correct explanation of (A). d) (A)TE R, ﬁ’ﬁ (R) T & | g%%
(d) (A)is true, but (R) is false.

Cﬁ/,sl FE-1 = g1 & gafaa Sifsg st gfedt & 9
Match List-1 with List-II and choose the correct TrqEE{anTSRfT'T?F( & IW gﬁ"{ 4
answer using the codes given below the lists :

g-11
List-1 List-I1 ([da)
{Country) (Mountain) HATTH
A. Spain — France 1. Alps VTS
B. Switzerland 2. Apennine s
C. Bulgaria 3. Pyrenees
D. ltaly 4.  Balkan e
Codes :
A B C D Q%%
@ 3 1 2 4 (ol
®) 3 1 4 2
© 2 3 1 4
@ 4 1 2 3
------------------------------------------------------------- T e e
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62.

63.

65S.

66.

67.

68.

69.

70.

71.

Plants and animals that live on land are called :
(a) Abiotic

(b) Aquatic habitants

{c) Terrestrial habitants

(d) Biotic

The joint where the neck joins the head is :
(a) Pivotal joint (b) Saddle joint

(¢) Hinge joint (d) Ball and socket joint

The disease-causing microorganism among these is :
(a) Archaea (b) Pathogens
(c) Bacteria <(d) Protozoa

Muilk is an example of :
(a) Foam
(c) Aerosol

(b} Sol
(d) Emulsion

The formula of baking soda is :

(c) K,CO,4 (d) NaHCOj;
CPR stands for :

(a) Cardio Programme Rescue

(b) Cardiac Pulsatile Revision
Cardiopulmonary Resuscitation g%g

Ok

The only vein that carries oxygenated blood is :

(b) Cystic vein

(d) Hepatic Portal vein

(d) Cardiopulmonary Revision

(a) Pulmonary vein
(¢) Cardiac vein

Diabetes is the most common disorder associated

with :
(a) Kidney (b) Gall bladder
(c¢) Liver (d) Pancreas

The recent global pause during COVID-19 pandemic
was caused due to: =/

(@) SARS-CoV-1 - (b) H5SNI
(c) SARS-CoV-2: = (d) MERS -CoV-2
A bus covers the first half of a certain distance with

speed v, and the second half with a speed v,. The
average speed during the whole journey is :

v,V 2vv
W ——— | b —2
v + ) vy + vy
v, + v '
(C) —l___2_ (d) Vl V2
2

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.
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GET IT ON
D.STF-1-.23
o e Tl i o A T €7
(a) ATH
(b) el Fam
() vy fart
N Eiccd
g g o v f @ e 2
W fmws () FES
© e (@) et T e TS
1 b ) T e &
(a) ot (b) Y
(¢) o (d) SIS
Ty T8 @ e e 2 2
(a) ®H (b) HA i
(c) W U wE kg
ARG H AR :
(a) KHCO, () NayCOjy
(©) K,CO4 (d) NaHCO4
CPR (didtam) Aarcad 2 :

(a) FIEH T s=E
(b) ST YR HTEH

() FIEATHT TS

(d) FiSTeHHT T

T wHAE R S oS IR @ qeT w g
FET & :

(a) wemHt fimm (b) fafesfim

(c) wfEas fim (d) foufes oda fim
TupirE it i U g o T R R, wefia B 2 -
(a) » FFHA () feEwmd

(c) dIHAW d) FI=EEA

T & & FIFs-19 Wl & FRor IREs fwm w5
FROE :

(b) HS5NI1
(c) SARS-CoV-2  (d) MERS - CoV-2

@ 79 o ifead o & weeft st g v i A
FTA & T 31 A 3 v, A G B ) gt

¥ 59 it aftad il &= RN 2
v,V 2vv
(@ ——= —12
Vit v, oe v+ v,
v, +
(©) lTvz @ v,
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55 pich one of the following pairs is net correctly
whi

(1 malChed regarding peculiarities of Ramganga
pmject?
@ Dam’s length 8258 metres
() Hydropower generation - 198 MW
capacity
©) Location —  Garhwal
(Uttarakhand)

) Irrigated area — 6 lac hectares

Consider the following statements with reference to

cultivated area of some countries of the world :

. In comparison to_USA, China and Japan, India

has highest geographical area under cultivation.

-~

7. India’s. location in tropical .mopsoon region

helps diversified cropping all through the year.

Which of the above statements is/are correct ?
(a) Bothl and 2 (b) Neither 1 nor 2
() Onlyl (d) Only2

u. Match List-I with List-II and choose the correct

answer using the codes given below the lists :

GET IT ON

Google Play

D,STF-1-23
72ty o) st & gay # freferad I
ﬁﬁﬁ-wuﬁgﬂ%ﬁwﬁ% 2

(a) aty frré 8258 Wt

(b) Felfaga wfth Ieam@d .~ 198 HMTETE
&t .

g ferfa _ Tgad (3TUEE)

(d) féfaaax — _ g umE gEA

v ¥ 7 2 3 i il & et A Frefera
FyAt qT fa=m Fifere
1. USA,aﬁwaﬁtWﬁgamﬁmmﬁﬁ

73.

Afiriiferas & stfirehad 2 |

2, mm@mmﬁ@ﬁ@ﬁ%mm
o wre frferefierd waelicaTed ST R |

It A FA-HA o TE /R ?

Qg)- 1 3 2 g1 '"_f“:(b) Far1TE2

Fae | (d) Fa2

™

(©

et o a1 & g e s gt 3 A

List-1 List-1 T 2 T TERT FHE I A :
(Place) N (Confluencing Rivers) @-I T ﬂ‘l,l |
A. Devprayag 1. Alaknanda and Pindar (&) Al &1 T7H)
B. Rudraprayag 2. Alaknanda and A. FEEEE 1. 3YcTeher 3k fiex
hagirathi .
e B. ®EATT 2. ITSFART 3T et
C. Karnaprayag 3. Bhagirathi and . ‘
Bhilangna C. vty A wrfieft it fyemr
D. Tehri 4, Alaknanda and D. fe=d A TEERT IR waTfRA
Mandakini - oM
Codes : ¥ ~
A B
A B C D o4 o 4 € b i
: a 1 2 3 ¥
@ 4 ] 2 3 >, El".%ﬂ
3 l 4
® 2 3 1 4
© (c) 4 1 3 2
4
1 3 2 5 4 l 2
D2y i | —
----------------------------------------------------- 1 T
5\ 5 5 > 3
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75.  Consider the following statements with respect to the
climate of Western Europe :
I.  Western Europe receives rainfall in all months.
2. Western Europe is located in the belt of
Westerties)
Which of the above statements is/are correct ?
(@ Bothland2  (b) Neither I nor2
() Onlyl (d) Only2
76.  Consider the followingﬂ——m ‘ %f them
in correct order from|[West to East by their location :
1. Karakoram 2. Pontic
3. Hindu Kush 4.  Zagros
Select the correct answer from the codes given below :
(a) 2,4,31 (b) 2,3,4,1
() 4,2,3,1 d) 4,1,2,3
(d) g%g
77. Which one of the following pairs (River — Direction)
i not correctly matched ?
(@) Amur river — North-East
(b) Syr Darya — North-West
(¢) Angara river — North
(d) Mekong river — South-West
78.  Which one of  the following pairs
(Country - Oil field) is not correctly matched ?
(a) Iran — Haft Kel
(b) Kuwait - Kashagan -
(c) Saudi Arabia - Dhahran
(d) Iraq —  Zubair
€ s

79.  Consider the ing_statements with reference to
Mediterrantan climate

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to

the South.
Which of the above statements is/are correct ?
(a) Only2 (b) Neither I nor 2
(c) Only ! (@ Bothland2

@ Adda247 Telegram Channel

eeee—— s
D.STF-1_23
75. _uferd i 6 s & e § AR e g
faam Fifare -
| et g i et T A e R |
2 v i g w1 9 3 s e,

I & - o A
‘(}y | 3t 2 2t (b) TAr1dE2
€ Fadl (d) Fael2

76. | @ foem FAT a0 $€ 7 WE §
B A
| FRERE fn 2. i
3, 11

13 foq Q oz 7 9 et 3 AT

3.1 2,3,4, 1
Wz e

L 4231 (d) 4,1,2,3“

frafafaa gmt (@@ o sueht yare fomm) # & F-ar
wé gafa Tt € 2
W A ot
) faafan It-af=m
(c) MUt (r:r EiCE
(d) g} afaor-qfam

e

78. ﬁmﬁr’r@awﬁ aaaa)ﬁ&ﬁw-qu&m
& 20
(a) N E T
(b) Fa — FH
() AT - 4rEE E%%
d) W& T Gt

79.mmftmqu

L uasﬁm%mm%.
B Wm%mw&ﬁmmﬁ

3 fage st § |
I § A BT o w2 0
@ ¥ac2 (b) TAr 172
(c) 3ad |
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D.STF-1-23
ﬁ yilh reference to the Anti-Maoist operation that took- 80 ot /’_—’M F T
Y . ) — . ¥ qratrare-fared w=
e 0 April 2024, which of the following frafafaq & ﬁ%ﬂﬂ/@r Y W /2 2
P ements is/are correct ? ol
* k place in Gadchirol; I T AEY % Taferdieft foret 5 g
to0 P adchirohi  distry 2
Lt s ) 7w siviaE BSF (@uak,) G fefgEe o
. € g o T A o
a8
7& The operation Was launched by BSF and et fore o e & @ @ s AFAT:
" District Reserve Guards. % s
(a) a2 (b)y AA1T
geleot the correct answer from the codes given below : Fa1 @) 1323
@ Only 2 (b) Neither 1 nor 2 d}d

© Only ! (d) Both 1 and?

81. SEY F FHRE “PravaHa” HweAal ¥ @< #
i With reference to “PraVaHa” software developed by fraferfiaa § & F9-a78 FuT @ 372 ?

|SRO, which of the following statements is/are . 7% fawn wpqwrd stafe &= ot smoft Iqafsy

correct ? % |
. It is a path-breaking feat by Vikram Sarabhai 2. it Al ¥ W argnﬁiﬁa%am%%t
Space Centre. a@mﬁﬁwm%u@mﬁmwﬁ
7. Initial aerodynamic design of space vehicles d
requires evaluation of large number of :ﬁ%ﬁqmgﬁ@ﬁ?ﬂ{iﬁl 3
configurations. (a) THadA2 (b) Fa@r1T&2
Select the correct answer from the codes given below : (c) Fae | @ 1 3T 2 gt
(a) Only2 (b) Neither 1 nor2
(c) Onlyl (d) Bothland2'
82. i @ wum Rumu & RAd & wF #1 st (A) @
. L T T (R) FHeET T
L Given below are two statements, one is labelled as = (R)m ol i
Assertion (A) and the other as Reason (R). e (A) M RELSEREE] 1_.““%5@“
: o I 56 fHETse Y& i |
Assertion (A) : In April 2024, India delivered the -
BrahMos Supersonic Cruise Missile to Philippines. O (R) : forermser 1 A aprm 490 fReifie )
Reason (R) : The Missile has a range of ﬁﬁﬂqﬁﬁﬁuﬁw :
490 kilometres, ¢
® () (A) T (R) 3 W &, frmy (R), (A) H TR
Select the correct answer from the codes given below : T T a1 § |
(2) Both (A) and (R) are true, but (R) is nof the
> ¥ E @
correct explanation of (A). E%% ®) (A ‘%} - OLLAT I‘ﬁ&‘i
®) (A) is false, but (R) is true. —

(€) (A) qu _‘(R) A TR ¥ 3l (R, (A) ¥t =&t

) Both (A) and (R) are true and (R) is the correct AT FATR |

¢xplanation of (A).

y (A) is true, but (R) is false. ‘% (A) TR, T (R) Terar 2|
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&5 . ference to
ith re
% W

)

““Nepal — India International

Sanskl’it Conclave —2024°°, which of the following

mtcments is/are correct ?
s
| Itwas held at New Delhi.

This three-day conclave was organised by the
Niti Anusandhan Pratisthan.

gelect the correct answer from the codes given below :
@ Only 2 (b) Neither 1 nor 2
© Only 1 (d) Both 1 and2

with reference to
Mission””  (LUPEX),

“Lunar Polar Exploratio

87.

statements is/are correct ?

|. This is an India - Japan partnership for their
joint moon mission which shall be launched in
the future.

(S8 ]

JAXA is responsible for developing the lander

M Fad |
DY G e i G (e % @<
which of the followin&

| et & @ -y o w2 2

GET IT ON
Google Play
{

D.STF-1-23
e dord med 2024 F
Tt 8 Frferfi & A o w2
I faceh # syarfor fepar =T |
2 g e g Afa i e T
sranfora feram 7T T | pyE
e for g e #f & W SECAAT b
(@? Saer2 (b) FA1AE2
(@) 12

}O HW—W%WWWW%W
et &, < sy 3 wte fem S |

2. JAXA frem ¥ for St fafaa F0 % o
firien 2, s@fF ISRO &t i &t aea =+

for the mission, while ISRO is handling the AT @& |
rover and launch vehicle, 3 Rro o e 3 & @ I AR
Select the correct answer from the codes given below : @) 3 ' ; (b°) Fa 1 FE 2
(a) Only2 (b) Neither | nor 2~ i .
Fad d) 1323
(©) Onlyl (d) Bothland?2. © ! @
- T _ gt d€ 37 & forg fean Al (GECP) & w=ad
ith reference to ‘‘Guidelines for Elimination o = - !
N_"——‘—-_.————______ ﬁ"q’ﬁ:‘f@'ﬁ' i m
Corporal Punishment’> (GECP), which of the R TR IR-AA wE R
following statements is/are correct ? 1. 26 31, 2024 F i‘lﬁ(ﬁ?@ et foren T 3 2
. The Tamil Nadu School Education Department ferem-fdw st fom
issued these guidelines on 26 April, 2024. 2. I fam-fdw ot & wiifes it el @
2. These guidelines are focussed on safeguarding ﬁwq{%ﬁﬁﬁl
the physical and mental well-being of students. 2 o me e § 4 vt I ﬂﬁm .
Select the correct answer from the codes given below : (a) aﬁﬁz by AM1TE2
(@) Only2 (b) Neither 1 nor 2 : " ]
() Only 1 (@ Bothland2 B4 W S (@) 1323
(Ob
, (90, THETEETE LT (FLYII) ¥ vt ¥ frafafag §
With reference to *“FLY91°* which of the following s H;%/% p ) | L
Statements is/are correct ? ) : )
I Itis a newly launched airline in India. L 8 ST 97 7 7 e
2 It inaugural flight took off from Manohar 2. @R TEAl IIH 18 o, 2024 =y TR
International Airport on 18™ March, 2024. I &g ST A yw Ed |
Select the correct answer from the codes given below : ﬁﬁ'@ﬁ@ 5 H wE Iw ﬁﬁ'ﬁ 2
@ only2 (b) Neither 1 nor 2 (@) ¥l ®) TR 1FE
jc) Only 1 (dy Bothland2 ° () Faa 1 (d) 1 afr2aE
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92.

93.

94.

7

24

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-1 List-11
(Yojana Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016
Yojana — Gramin
B. Jal Jeevan Mission 2.
C. Swachh Bharat 3.
Mission — Gramin
D. Pradhan Mantri 4.
Ujjwala Yojana
Codes :

October, 2014
August, 2019

November, 2016

(b)
(c)

A
@ 2

4

1
(d 3

L A R - -
—_ W N =
(S N e =

=
m

Which indicators are used in Human Development
Index (HDI) ?

l.  Income level

2. Education

3. Condition of environment

4. Life expectancy

Select the correct answer from the codes given below :
(@) Onlyl,2and3  (b) Only1and4

(¢} Onlyl,2and4 (d) Only1and2

Arrange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below :

1. Swachh Bharat Mission

2. Pradhan Mantri Kaushal Vikas Yojana

3. Pradhan Mantri Garib Kalyan Yojana

4. Pradhan Mantri Mahila Shakn Kendra Scheme
Codes :

(a) 2,1,4,3
(c) 1,2,3,4

(b) 4,2,1,3
d 3,1,2,4

Malthus argued that the population grows in a
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

(a) Linear, Exponential
(b) Exponential, Linear
(¢) Arithmetic, Geometric
(d) Geometric, Arithmetic

@ Adda247 Telegram Channel
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91.

92,

93.

94.

GET IT ON
Google Play
DSTF-123
qﬂ]ﬁ@llﬁgﬁ%ﬁ#ﬁqaﬁtwﬁzﬁ%m&q
a1 ety
(FISF1 ATH) (3T fify,
A, T SITEE deET - AT 1L §E 2016
B. &« Sftad faee - HFGT, 2014
C. <o vIta fiee — ardfor 3. T4, 2019
D. YuEHH IsedT JIeHT 4. FEHER, 2016
&<
A B C D
(@ 2 3 1 4
JM 4 3 2 1
) 1 2 3 4
(d 3 4 1 2

HHa fae geei (EEaR) § 6 deat g
YT foRar ST @ 2

1. ;T:Tw %g%
>° qgtawr Y feufa
4. wwifed SftaT srafy ar amg
aﬁ%ﬁnmgﬁﬁaﬁmgﬁq.
(a)>4ﬁa1,2:+ﬁt3 (b) Fad1 3R 4
(c) Faa 1,234 (d) Faer13R2

I R g0 Y1y it ¢ fafiRad Ay 5
_FTeTTR | et fife oit = g o e § @ wd
SELE

W i)
1. =3 vrd fiym
2. YumEHt e faee e
3. YUt e weamr S
4. wuE afge ufe = der
@<
(@ 2,1,4,3 (b) 4,2,1,3
ISCARN AR (d) 3,1,2,4
HTeyw 3 e fear i Sde _ yfadsedty
Sl FW SOEE oyt wfy A

frefafaa faredt & @, b Tt it ofd & fore @&
ERISCIELE

(a) g, umairr
W T, e

(c) iy, sanfig

(d) STt FETforer
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According to the Economic Survey. 2025

_ L —23

fiscal pl(()"cy reSponse d'f, the Government of lvr\:g?::
esponse to the

yndertake 10 T aggravated gl ~

disuptions ? B ey

| Decreasing food and fertiliser subsidies -

2, Increasing taxes on fuel and imported products

3, Reducing taxes on fuel and certain i
produCtS imported

Select the correct answer from the codes given below :
(@) Only 3 (b) Only 1
© Only 2 (d) None of the above

Match List-I with List-II' and choose the
answer using the codes given below the lists : comedt

List-1 List-11
(Social Security (Beneficiary's
Programme) Contribution)

A. Pradhan Mantri Shram 1. Beneficiary’s
Yogi Maan-Dhan Yojana choice

B. Pradhan Mantri Jeevan 2. ¥55-%200 j
Jyoti Bima Yojana per month

C. Pradhan Mantri Suraksha 3. ¥ 436 per year
Bima Yojana

D. Atal Pension Yojana 4. 20 per year

Codes :

A B C D &

@ 2 3 4 1 E;fl%%

® 2 4 1 3

(c) 1 2 3 4

(d 3 2 1 4

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Development is being defined as
improving living standards and welfare.

Reason (R) : Growth in per capita income is not a
sufficient measure of development.

Select the correct answer from the codes given
below :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is true, but (R) is false.

Which measures are essential to achieve Goal 4 of

the Sustainable Development Targets, 2030 ?

I. Making education free and compulsory

% Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4. Increasing investment in technology

Select the correct answer from the codes given below :

GET IT ON
Google Play

D.STF-1-23

95. _smfife wda, 2022 23 4 SIgEIL_Sgd afir -
ammiaﬁaaﬁft) : it TSI A
1 o A
L. @ i 390 afeudt § &t
2. Sy st sranfaa Iemal 7R STl
5 éﬂqaﬁtgﬁ;mmmﬁmm

= @ wel I :
e A ey et
o) A2 (d) v & 1A
96. @-laﬁqﬁ-uﬁgﬁ%ﬁﬁmﬁgﬁa‘ﬁm
U % 1 T o at I AT
-1 g=1-11
JhTE)
A s s AR aEes 1, fearteenryeme
ST ' FoOTIHEI
B. el sfte safa dfmr 2. T55-%200
BIEE gfc ATE
C. wurwHt gea s 3. T436ufaad
T
D. 37 Y AT 4. r20wfaad
+%e :
A B C D EyE
@ 2 3 4 1 m’%é
b 2 4 1 3
oy 12 3 4
@ 3 2 1 4
97. <1 e Ry o B R @ T ) AR (A) au
TG HIT (R) FE TR |
W(A):Wﬁ?@ﬁtmﬁaﬁ;
¥ w9 o gftiva o stran € |
T (R) : Uid =4k o9 o afe faem it vafw am
TR '
W few g e # A wE WA
(a) (A) @¥T (R) 3FT @&t & 3R (R), (A) H =&
AT HAT & |
(b) (A)Te R, g (R)FE R
‘)4 (A) @1 (R) T 7§, fFg (R), (A) 1w
AT TR FAT R |
(d) (A) @R E FFg R)?
98. TAd famd AL, 2030 H/AT 4)H 9IW F ¥ fow
FH-H1/H JIF AT B/2 7
L fran 1 1y 3 stfamd samn
27 T F g g § gun ok fefvee aiadw
T AT

3. i FriEE # famn
4. henfrh e A afg
1 3kt 2 1,2,3 34

@ land2 b) 1,2,3and4 (b)
h_(_C_)____oZilyl fd) l,2and3 | __ )/(f{%ﬁﬁl(d)lzaﬂm ................
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99.

Which of the following freedoms is mot guaranteed
by the Indian Constitution under Article 19 ?
* Freedom to assemble /peacefully and without
arms ]
Freedom to own, acquire and dispose of
property
(¢)  Freedom to move freely.throughout the country
(d) Freedom to practise any trade or profession
Given below are twe statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : According to the Constitution of
India, the same person cannot function as the
Governor of two or more States at the same time.
Reason (R) : Article 153 of the Indian Constitution
states that there shall be a Governor for each State.
Select the correct answer from the codes given
below :
(a) Both (A) and (R) are_true, but (R) is not the
correct explanation of (A).
(b) (A) is false, but (R) is true.
(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(d) (A)is true, but (R) is false.
Which one of the following pairs is not correctly
matched ?
(a) Equality before
Law

(b)

100.

101.

— Guaranteed to both
citizens and
non-citizens

— Guaranteed only to
Indian citizens

(b) Equality of
opportunity in public
employment
(c) Creating a new State — Power of Parliament
(d) Altering the name of — Power of a State

a State Legislature
Match List-I and List-Il and choose the correct
answer from the codes given.below the lists :

List-I b List-IT
Consolidated Fund of India. 1. Article 266
Finance Commission 2. Article 360
Financial Emergency 3. Article 280
Comptroller and Auditor | | 4, Article 148
General of India ’

Codes :
A
(a) 3
(b) * 4
(c) 1
d 1 3
Which of the following are envisaged by the Right
against Exploitation in the Constitution of India ?
1. Abolition of untouchability

102.

A,
B.
C.
D.

B

C
2
3
2

N N Ny

1
l

3 -
2 -

103.

X
GET IT ON
Google Play

3 19 % 3

anity o
wfeur gro it T ?
e T, e A )
{f 3 & e - 1 =
(d)

99.

foreft SATTR. 37yt SAAETE ) F AT
100. A1 & sy o E, f @ o H AR (A)
Eﬁﬁm(R)WﬂﬂT%I N o
A (A) @ W dfayr SRAUY
@ﬂm%émaéaﬁmm%wiw
T TE e | _
T (R) : NI Gfaa™ & 383 153 4 T
T o e T % Fef € ek TS adTet €1 |
i fow 1 e § @ et I AT
(a) (A) @1 (R) 1 T &, g (R), (A) #T ¥8

TG g HT 2 |
v

(A) Tierd B, foheg (R) W |
(d)

(A) @1 (R) a1 @&t & 3R (R), (A) F &
AT HFATE | E%%
(A) T& R, R (R) TG € | 58
freafafes & & #-a S w frem @ 7@¥e 7
(@) fofrFwmw - i we RATTE 9T
aHaT = fugtfafme
AH AT &> FedeT WA F TR F
e A FIAa forg gfafaa
(¢) fFHiwmsaH - wuedHiake
T T
Y FTmaam - o fau e f vt
TEEHT
Tft-1 1 g=ft-11 @ gaform Hifor ik glwat & 9 fo
MU %2 1 FANT F Well I A -
gt -1

HTTIT 266
HITTT 360
HTT 280
HTRE 148

101.

(b)

102.

vowp

IR S

103. W dfgum o viww ¥ faeg sfem ¥ a=alq
'ﬁ%ﬁmwm

ST 1 377
WHE 38 ST S et 59 1 fy
3. mﬁaﬁx@aﬁﬁﬁaﬁ‘fﬁmﬁwﬁﬁv
4. HuUTIS! % fedl o wea
R Gy e i 8w s g

2913 (b) 334

2.

2. Prohibition of human trafficking and forced
labour

3.  Prohibition of employment of children in
factories and mines

4.  Protection of interests of minorities

Select the correct answer from the codes given below :

(a) 2and3 (b) 3and4

(c) land2 (d) landd
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M gevices ? only input| 104, Fferferfiaa Wl 4 @ foped g d ST SR
1) Mouse, Keyboard, Printey feamgm) & 2
) Mouse, Keyboard, ijecto» E&% (a) wr3w, f-are, fiex o)
() Mouse, Keyboard, Monitor & (b) ®I3E, HaE, G ‘é'gﬂ
@ Mouse, Keyboard, Scanég, (c) wr3w, Fr-arE, HHeT
tent of com ute : '
5, The con puter memory whicl (d) =3y, FETE, WA
P on-volatile, even when the power goes off is l s 105, Fveper ) %1 @ F-ar a2 S faga sfd sfea
(@ REM (b) RAM 2% 70 oft srefrareier e 2 2
A ll? Ooth the followi (&) None of the above (a) REM i) RaM s
- x?\;'ceen Fahrenheit (\'!’Vlj‘l)lgan:iS Cael correct relationship (c) ROM (d) IEFAE I8 A1
9 108 (0C) degrees 2 | 106, Frrrferfiae & e witreree (°F) w fewad (°C)
(a) °C:§°F+32 (b) °C=°F_273.15 faft & ofra et dag qntar 2 2
(@) °C=2°+32 (b) °C=°F-27315
op_ Yo o 5
(@ F=5C*32 (@ °F=°C-273-15 5 .
. . () °F=2°C+32 (d °F=°C-273-15
107. Whl?,b of the following statements is not :
frue Chromoso 107. F=fafgs § & F9-a wm ad 7@ 2 2
mes .
U s S Ronpe of BNA ghd (a) FHEH AL qA NI F T EGE |
(b) Nucleus qf a cell does not play a role in cellljllar ®) IR T S WAL i
reproduction. e afiaard
© %l;lromosomes contain  information  for (c) shrE™ Hatadr & foTq gaaTd ot Tad & |
(d) ;:uxfgiog(a:fsegmem of DNA is called R+ e ik
is called genes. - o o
108. Given below are two statements, one is labelled as s j;:; fegm g, Lkl e 0
Assertion (A) and the other as Reason (R). AL HT PR (R) FRITATE | ' .
A'ssertion (A) . COZ’ Soz and N02 gases gel mn (A) 3 COz, SOz ﬁt NOZ ﬁ@aﬁﬁmﬁgﬁ
dissolved in rain water and produce acid rain. STt € ST st aut s e ¥
Reason (R) : Atmospheric air is polluted due to high T (R) : FeA SEHAFEISS, TR Sgaiiaase ain
ZQUCFnHaﬁon gf gases.like carbon dioxide, sulphur AEIINHA & ATTES S TG Y 3= g ¥ T
loxide and oxides of nitrogen. T 9 wefvd Bt 2
Select the correct answer from the codes given below : t fu 33
: FHY afiu -
() Both (A) and (R) are true and (R) is the correct (:)Q 3}{ RH?I;HIH%‘?( 3 '
explanation of (A). sarET ( )% Sl (R), (A) 1w
(b) (A)is false, but (R) is true. " 3 6 e
(¢} Both (A) and (R) are true, but (R) is not the b)  An ? Q_(R)E?;?(%|
correct explanation of (A). (© (A) 3 (R) X Hel &, ﬁ;'—\i (R), (A) # v
(d) (A) s true, but (R) is false. ST Tefl T B |
8. with reference to the 7 India - Indonesia Joint ")(\(d)_ A) Hi'p[%a ?iiiil (R)’T(’RT% |
Defencf: Cooperation Committee meeting, which {_gﬂ—ﬁﬁ MR — S?ﬁﬁmn TIh T |29y Hﬁrﬁ}l ¥IF F
the following statements is/are correct ? Tt i Frerfefed § 4 S FAT A R/E 2
In this meeting Indonesia agreed to enhance . ERHFH FeRfmr 3 &, I s H.Ian 3t
collaboration in the areas of defence, industry, sy T % a5 § - s B3N
maritime security and multilateral cooperation. Gl;ﬁl FEAT TG W SESIT
2. This meeting was held at Jakarta on 5 A
May S, 2024, :ﬂ%‘ﬁ*’ 5 3, 2024 % et i st e |
Select the correct answer from the codes given below : fewmy T W T I EELE
@ Only2 (b) Neither 1 nor2 (a) Faw2 b) A
) S (b) FA13&2
---------- Onlyl () Bothland2 | (@ _F) (4 | shodd
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With reference to “FWD 200B”,
following statements is/are correct ?

which of the

I. This is India’s first indigenous bomber *‘UAV"’
aircraft.
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110. “FWD 200B” ¥ genf § Freferfiad & @ -8V Fuy

/29
Talmﬂmﬁ%ﬁm“UAV”ﬁﬁm%I

2. et eirs amwar 100 e 2 |

2. Its payload capacity is 100 kgs. ﬁﬁqﬂquﬁﬁaﬁwa’ﬁ‘l "
Select the correct answer from the codes given below : (a) Fad 2 (b) a4t | q?ﬁ:;
(a) Only2 (b) Neither I nor 2 (c) Fadl (d) 132
(c) Only1 (d) Bothland2 @ Mﬁﬂﬁ@w
With reference to “India — Australia Economiu( (Ind — Aus ECTA)” ¥ ad § fFefafaa 7 5
Co-operation and Trade Agreement (Ind — Aus 4, FoF G e8!
ECTA),” which of the following statements is/are 1. T2 FTA (Qtﬁ,ﬁ.ﬂ;.) F fou ot at@ & weed
correct ? : wAR
1. This is a first-of-its-kind initiative of FTAs. 2 AaF # 9Ra ¥ arvrey afva oft e s 3
2. The meeting was attended by the Commerce wmT fora |

Secretary of India, Shri Sunil Barthwal. mmmﬁﬂagﬁwgﬁq : E’%%
Select the correct answer using the codes given below : (a) ad 2 (b) A 1A&2 B
(a) Only2 (b) Neither 1 nor 2 (©) ¥ (d) 1 3m23mt
(c) Onlyl (d) Bothland2 5

-1 ) geh-11 @ gafea Fiforg st gferdt & i fog

Match List-I with List-Il and choose the correct maﬁmmwuﬁwaﬁ‘z:
answer using the codes given below the lists : ‘\Fﬁ-ﬁ—l = g=f-11

List-I List-II & (%_f\w

(Joint Exercise) (Dates) (a3 HHTH) )

A. India — Uzbekistan Joint l. February A, TRE - ISR 66 8 1. FEd 19 - 27,
Military Exercise, 19=27, I, “gRfaw” 2024
“DUSTLIK” : 2024 (DUSTLIK)

B. India - France Joint Military 2. May 13 - 26, B. WRd - Wi¥ €Y 87 30, 2. 1% 13 - 26, 2024
Exercise, “SHAKTI” 2024 91 (SHAKTI)

C. Harbour phase of Indo - US 3. April C. W — Geh g AR AT 3. 319 15 — 28,
Joint Exercise, Tiger 15 - 28, Hq?ﬁ 3T, T E1aFh 2024
Triumph, 2024 2024 (Tlger Triumph), 2024 1

D. MILAN, 2024 4. March =7

18 — 25,2024 D. foem (MILAN), 2024 4.9 18 — 25,
Codes : 2024
L TN
A B C D E%%' S A 5 & -
@ 3 4 1 2 Pt @A 3 4 1 2
® 3 2 4 by 3 2 4 |
(@ 4 2 1 .3 © 4 2 1 3
@ 2 3 1 pd @ 2 3 1 4
With reference to “Shaksgam Valley”, which of the | 113, s o1 ¥ g o fafafas o 9 9
following statements is/are correct ? —_%_M =
L This ey i s s ke o, et |1 g it o w0 @ ot 3 2,
of Pakistan- .
: TTHETT % et aret YT (P fommn
2. India has lodged protest against the 5 3 39 et i < %qomg 2_(%
infrastructural development being carried out ) Lk L & ST & g
by China in this valley. & T ot fordhe oot o 2
Select the correct answer from the codes given below : :ﬁ%ﬁ‘{‘m%ﬁ T T IW gﬁq :
(a) Only?2 (b) Neither 1 nor 2 (@) a2 (b) Fdr1 ?ﬁ2
(c) Only1l (d) Both 1 and 2 () HadA1 (dy 1323
"""""""""""""""""""""""""""""""""""""""""""" N 28*~
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¥  range the following schemeg lau oY D

i Government of India in ChronOlogi?‘(‘:]hegrdE? the |\ 114, wmE s g amow # freferfaa Wj_dg;g
choose the correct answer from (pe codes ggi‘;?} Wﬁm@aaﬁﬁméﬂtﬂaﬁuwa@?q

pelow : S ‘J)
|. Integrated Rural Developmen Programme ~ g unftor fasrg FEEE V)K
2. Swamjayanti Gram Swarozgar Yojang Tt St T ST AT e

3. National Rural Employment Guarantee Act T gyeftor st M stfufT

4. Pradhan Mantri Jan-Dhan Yojana

A%,gj.b.w.w.—

Codes :
i ;ii? “5) 3,4.1,2 1,2,3,4 (by 3,4,1,2
© 2,34 (d 4,3,1.2 S 9541 @ 4312

15, With reference to Economth, which of (he | 115. mﬁimvnq%éamﬁﬁ,ﬁmﬁ«lﬁaﬁ H ¥ N -H1/E Fo

following statements is/are w323

1. Indian Economy is an Underdeveloped Economy. 1. g mam G srefaesfaa sdeaaedn -4
2. Indian Economy is a Mixed Economy. 5 Ty sreferaean us fafud sreferaraT 2 |

3. J.M. Keynes is the Father of Economics,

3. . i AT F A © |
Select the correct answer from the codes given below - . ﬁj @m A iy
(@) Only I and 2 are correct. - ! g HE E%I I: S @46
(b) Only 3 is correct. [‘ﬁ%ﬁ (a) ae 132 T u&'@

[Ob
() Only 1 is correct. (b) FE@33TER
(d) Only 2 and 3 are correct. (c) ad|EER _
(d) Fawd2sm3ad |

116. Given below are two statements, one is labelled as

‘ 116. = <1 Fo 570 & = =1 sfusa (A) T
Assertion (A) and the other as Reason (R). Fetar H%W?E)T%:T%’W% I A )
Assertion (A) : The val f national cyrr =
el B o > SR (A) : T g1 1 7@ e A FaRet o

y demand and supply of foreign F7 3 amrafs AR fafrma st wey 2
currency is called flexible exchange rate. i C\ﬁ Emf ~1 %: s r 3 atf X il
Reason (R) : Demand and supply of the foreign R : @Eﬁmaﬂ'{ - & g
currency is being determined by the Central Bank. Fruifa gt & | 4B
Select the coﬁmw; Fra e e 2 # & vt se afra
(a) Both (A) and (R) are true and (R) is the correct (@ (A) @ (R) 3T @& & i (R), (A) FT e
explanation of (A). AT FEATE |

(b) (A)is false, but (R) is true.

b) (AT
(¢) Both (A) and (R) are true, but (R) is not the ®) (A)TEa R, R (R) TR

correct explanation of (A). © gr)@;mqg{;gg?ﬁ 2 ﬁh—vg (R), (A) 1 =&
(d) (A)is true, but (R) is false. @) (A TR e (R)Terg 2|
7. wi g : ; N ‘ oy
170 10l comider e folloving | 117, e 2. e gt o e i
. Nationalisation of Banks \ﬁy'/; m% =
2. Formation of Regional Rural Banks 3' 3% TTER %m :
3. Adoption of villages by Bank Branches m TeTat & ﬁggé /ﬁ%?ﬂﬁaé—-n
Which of the above events can be considered as steps Sm; & . = 9a o faefy HETE
taken to achieve “financial inclusion in India”? et 2 39 ‘:RH H3H HIET ST HehdT © 2
(@ Only 2 and 3 JB)A 1,2and 3 (a) %ﬁazaﬁ(3 () . (b) 1,233
o © Onyland2  T(d) Only3 . 132 00 @) FEws
18, With reference to “National Food Security Agt",| ' ﬁqmmﬁw L s & waot & Frsfafigg oy
Which of the following statements are correct ? - FUT R E 2
L1t “lflilll cover up to 75% rural and 50% urban L. %—E’:TZ?% TrHioT 39 500, mmmﬁm
Population.
2. It hag special focus on nutritional support to 2. 399 nfgemai I

Women and children.

it
ode‘:?s enforced on July 5, 2010. ;,1 7‘T"E-' 5 I, 2010 =y SRR IR B
(@) 2and3 are correct (b) 1 and 3 are correct (2) 23R 3|
) (C)lz and 3 are correct. (d) 1and2arecorrect. | (c) L23m3wde, td; : g % gg :
""""""""""""""""""""""""""" * 29 * “""""“”"""““"‘“---*:"“""“""“"‘
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119.  Given below are
Assertion (A) and

|

two statements, one is labelled as
the other as Reason (R).

Assertion (A) : There is a positive relationship
betwegn . ent HDD and the
Sus}amable Development Goals (SDGs) ranking of
Indian Statcs.
Reason (R) : The underlying dimensions of SDG

largets are closely related to education and health
aspects,

Select the correct answer from the codes given below :
(@) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

(b)
(<)

(d)

120. List-I contains the nameés lof countries, whereas
List-1I shows the Rank as i‘ér_:rlitta.nccs received in the
year 2022. Match List-I with List-I1 and choose the
correct answer using the codes given below the lists :

List-1 List-11

(Country) (Rank)
A. Mexico 1. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :

A B C D

@ 4 1 2 3
® 2 3 1 4
) 3 4 2 kT
@ 1 2 3 4

121. Match List-I with List—IIarérfld choose the correct

answer using the codes given below the lists :
List-1 List-II
(State) (Rank according to expenditure
on infrastructure 2019 — 23)
A. Maharashtra 1. First
B. Uttar Pradesh 2. Second
C. Tamil Nadu 3. Third
D. Karnataka 4. Fourth
Codes :
A B C D, o4
(a) 1 2 3 4 . Ok
(b) 2 1 3 &N
(c) 4 I 2 3
d 2 3 1 4
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(19, A 3 e e e 2, o @ o 8 AEE (A) 7y
ZEY Y HA (R) FE AR | '
FfrweA (A) @ WHE faE gEE® (.83
aad fae dedi (vq A5 W Ay 9dE T
" afaar o (G 2 | _
HIOT (R) : Gqd faeprg &l AT AT
fire ud waTeen @ HfTEaT & ATy w2 |
A e e e & § wE I T
@ (R) 3t & 2, FoFeg (R), (A) HT w

T T FAT L | s

(b) (A) 7T 2, fF (R) |

(c) (A) TT (R) 3H1 @&t & 3 (R), (A) FI &
ST HTT € |

d) (AT fRgR) A

120. g1 F 2wt & am ¥, w@lw gh-o A ad 200 §
wafert g ssft g Tfin s (o) & SFTER awE
T 2 | g1 -1 @ gafad A o g 5

Fer e 1T sz b g S ST g
-1 w=-11
(@) )
A. afega o
B. ¥ 2. fedim
C. wid 3. qdE
D. foefdia 4. =qd
&
A B C D
(a) 4 1 2 3
2 3 1 4
) 3 4 2 1 EpE
@ 1 215 4 é%ﬂ
121, g1 gt @ gt hife o afed % A R
T FHZ KT IINT e IR A -
SCTE A
(T9) (2019 - 23 % R ITIRYT G
R T @ & 7GR A5 )
A. TERTE 1. wuw
B. smww 2. fidflw
C. daerrg 3. e
D. #ies 4. wqd
®<
A B C D
\ﬂ 12 3 4
(b) 2 1 3 4
(c) 4 1 2 3
(dy 2 3 I 4
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are two statement i .
% Givc?u_ l;il(():) e aSnRi,aggﬁ (1; )Iabelled as 1122, 19 & e o o &, e @ o a1 sTfired (A) T4
) SSe . . 9
isserﬂ"“ (A) : Article 352 of the Indiay U F (R) FEIAE | -
Constitution deals with the declaration of gp AT (A) ;. v Hﬁmﬁ 1 FTIE 352
mergen‘:)" 3 qTdeTeA = feufd s gmon ﬁﬂg‘m |
;mson (R) : An emergency may take place at any WIT (R) : AaTaarei feufa fet off @wa 39 &l
me. qh1 2 |
gelect the correct ar(;swigr from the codes givep below : EIE| few e e 7 & W IW AT
o B N oxplanation o (- () B o he| G (A () R 2, Fag (R, (A) T
correct explanation of (A). ureaT TR T 2 |
) (A is i;se, L}u(;()R) is true. ) (ATl ) R TER
Both (A) an are true and (R) is the correct ’ ot g :
© explanation of (A). rec (©) (A) auT (R) AT T & 3T (R), (A) FT &
@ (A is true, but (R) is false. - W@TW% | R
: - / d) (A)@E R, fbr (R) AT E |
which of the following statements are correct ( S . .
A regarding ICT based e-Governance ? N PP5) IR I LG R CE L R Sl e ifl' ferfaa ¥ €@
|. e-Governance reduces the transparency of —MW g7 '
Government. 1. é-nﬁmﬁmﬁzﬁhaﬁwaﬂm%ﬂ

2. e-Governance reduces the cost of Government.
3. e-Governance increases citizens input into

2. iR TEREH ATaFH A A R T
3. 39T O TR | AT 1 AEE |g I § |

Government,
. _ 4, gty e Y e AT F1 Serdr &
4. e-Governance Increases bureaucratic :
e tagisms. = faw o e @ & | I g
Select the correct answer from the codes given below : (@) 2 S 4( i M 2313
(a) 2and4 (b) 2and3 (c) 3 (d) 2,334
© 1,2and3 (d) 2, 3and4 124.CH Ha1 S @ faafafad § & fra ga/fe
i The UPSC derives its functions from which of the Hrdl 8 -1t 9T et 8/ 2
following sources ? . dfeam
1. The Constitution 2. R‘Hé’hﬁﬂf{ : EYyE
2. Parliamentary Laws EyE Eh'l’ﬁﬁrﬁﬁim' TR =
3. Executive Rules and Orders lﬁgﬂ > o &
4. Conventions B : .
Select the correct answer from the codes given below : ﬁﬁnﬂqa@ﬁ el I oll TCE
() 1and2 (b) 1and3 (a) 132 (b) 133
{¢) Only I (d) 1,2,3and4 (c) wad | (dy 1,2,334g -
5. Which one of the following is correctly matched ? 125. ffcfiga & & #9-a1 o ad wafea 2 2
Constitutional Body Constitutional wifaufis S e i
Article
(@) Election Commission — 165 | 313!‘%?
(b) National Commission — 148 (a) FaraT o — 165
for Scheduled Castes b) TS SRl s s
(¢) Finance Commission — 263 ®) s gl — 148
(d) National Commission — 340 (c) SR - 263
: for Backward Classes _/d) T freet E‘TH rEnT - 340
1, Identify the correct chronological sequence of the | 126 ﬁ%ﬁ%‘ﬂ‘gﬂ:w T R
following - ‘ T mmw%ﬁﬁf ' |
L Shankari Prasad vs. Union of India 2~ . S
e e . Hoe g T ueeE sy
a)jan Singh vs. State of Rajasthan 3 - S— 5
5. g . : A U Ty
olaknath vs. State of Punjab 4 Ferarie et
Kesavananda Bharati vs. State of Kerala =ﬁé i T A Ty
Select the correct answer from the codes given below : ﬁ'QITQHJ\_d LR R W%ﬁm :
S EEES b) 3,214 (a) 1,4,3,2 b 3.2.1,4
~9_ 1,234 @ 3420 | p) 1,2,3,4 d) 3,4,2,1
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128.

129.

130.
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Match  the Amendments with their year of

implementation :

A. 42" Amendment 1. 1985

B. 52" Amendment 2. 2011

C. 8™ Amendment 3. 1976

D.  96™ Amendment 4. 2002

Select the correct answé'rffrom the codes given below :
A B CD

(@ 2 1 30y 4

® 4 3 207,

© 1 2 34

@ 3 1 4 2

Match List-1 with List-Il and choose the correcl(
answer using the codes given below the lists :

i - B
List-1 List-11 é%lﬂ

A. Cooperative Federalism 1. K.C. Wheare
B. Bargaining Federalism 2. [vor Jennings
C. Quasi Federalism 3. Morris-Jones
D. Federalism with ~ 4. Cranville Austin

Centralising Tendengy
Codes : - ‘—

A B c.'p

@ -3 - d-eogag
® 2 1 403
© 4 3 1 2
d 3 2 4 1

Which one of the following is not a level in the

three-tier Panchayati Raj recommended by Balwant

Rai Mehta Committee ?

(a) Panchayat Samiti

(b) Gram Panchayat

(c) Zilla Panchayat

(d) Nyaya Panchaya}; 1

According to the Lokpal and Lokayuktas Act, 2013

the Lokpal would be dppointed by the President after

obtaining the recom nendations of a Selection

Committee, with the Prime Minister as chairperson

and consisting, among others, of the following :

1. Chief Justice of India or a Supreme Court Judge
nominated by him

2. Chairman of the Rajya Sabha
3. Speaker of the Lok Sabha
4.  Leader of Opposition in the Lok Sabha

Select the correct answer from the codes given below :
(a) 1,2and3 (b) 2,3and4

GET IT ON l
Google Play

D.STF-1.94
127. YA #1 3TF FAEEE % 99 8§ e fifo
A, 4291 HEYA 1985
B. S52di @A 2011
C. s6al @A 3. 1976
D. 96di guA 4. 2002
i frw o e & & g S
A B C D
@ 2 1 3 4
® 4 3 2 |
© 1 2 3 4
y 31 4 2
198) =1 ¥ g1 & gafera il St giedi & 2 fe
T 2 T TN FTHE I I :
gft-1 g1l
A. e HyaTe 1. *H. ;|
B. @Ramst ¥Ha 2. IR AfwE
C. d gEare 3. Wi
D. aﬁﬁmﬁﬁ?ﬁ 4. o itz
AT §HdTE
& ;
A B C D
@ 2 4 3 |
® 2 1 4 3
() 4 3 1 2
@ 3 2 4
129, It T e Wit qT st Bt et o
. i TR
(a) =W Efgfg
(b) W 9T
OEREGIEEE]
=T 99Eq
130. W iR dieEe ofufE, 2013 % SR,
ST 1 Fafe e e ww s e

Rl S T % A Y e, Rk s e
ol B o e ot o % oremn, Rrefufad
e B
L W@ & Te i @ e g TSy
ST ~ATATSTE il 1S Armefisy
P TEF wefa
[

YR /T e
. A a v
(@ 1,233 ®) 2,334

%
O

1,2,3and 4 (d) 1,3and4
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Lsider the following statements with reference 1o

Cong‘['CSS Socialist Party : 131,
The Congress Socmh;t Party was formed in
January 1934.
jawaharlal Nehru formally joined this party due
1o his sympathy for socialism.

which of the above statements is/are correct ?
® Both 1 and 2 (b) Neither | nor 2
© Only 1 (d) Only?2
Consider the following events and arrange them in
chronological order : 132.
1. Murder of Abul Fazl E&%
5. Death of Sheikh Mubarak Ot
3. Death of Faizi
4. Death of Daniyal _
gelect the correct answer from the codes given below :
@ 21,43 d 3,2,1,4
© 2.3.1,4 (d) 2,4,3,1
Consider the following events and arrange them in
chronological order : 133.
1. Linlithgow August Offer
2. Cripps Mission arrival in India
3.  Ramgarh Congress Session
4. Resignation letters of Congress Ministers
Select the correct answer from the codes given below :
(@ 3,1,4,2 ) 4,3,1,2
© 1,3,4,2 d) 4,2,3,1
Match List-I with List-Il and choose the correct
answer using the codes given below the lists : 134.
List-I List-1I
(Book) (Writer)
A. Hindu Polity 1. D.D. Kosambi
B. The Wonder That Was 2. A.L. Basham
India
C. An Introduction to the 3. K.P.Jayaswal
Study of Indian History
D. The Early History of 4. Vincent Arthur
India Smith
Codes :
A B C D
@ 3 2 4 1
® 1 2 4 3
© 3 2 1 4
N R T T SRR S (e
______________________________ * 33 *
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D.STF-1-23
i e ] ¥ wof i Frefatad
ﬁmﬂﬁﬁm Faat
| Saft 1934 & Hig Gfae el ®1 TS
™ | .
2 Wémﬂﬁiﬁﬂ%mﬂﬁ—'ﬁiﬂa
SATEtEATe Yo 36 2t 1 wfae g
aqﬂ?ﬁr‘rﬁ?mmfémne“f%/%’
(@ 1a3M2EE (b) AT IAE2
(cy Fad I (d) HaA2

e et farer e T 37 e
it Fifsa

I, 3 Gt 1 el

2. @ qEE R g

3. HSfidaeg

4. A HY
ﬁﬁqﬂqfiﬁﬁnﬁmgﬁm

(@ 2,1,4,3 (b) 3,2,1,4
() 2,3,1,4 (d 2,431

Frerefad geaTst o = HITT quT 38 T |
WW: \Q\{O
I ReRemEamE I
2. forem fiye w1 9 STEA - 242
3 e whm afEm — | 94°
4 woEubdieEme — (237

Hrer few o e § @ wE I IHT -
(@ 3,1,4,2 4,3,1,2

() 1,3,4,2 4,2,3,1
geft-1 i g1 & gafea Sifse o giaat & i feg
T e FT TAT FHE I I
aeft1 ashn
Ciab GH)
A. Rttt 1. 2. ot
B. a4 & AT+ sfean 2. Tud O
C. WRISHA LI = 3. .41 SEe
AT 3feam et
D. saefifecfi o sfeanr 4. fidie smeft Ry
" A B c b
@ 3 2 4 gy2
® 1 2 4 3 &=
() 3 2 1 4
d 1 2 3 4
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135. Given below are two stalements, one is labelled as | 135. :naa‘ramﬁmm%, ﬁﬂﬁﬁuﬁﬁﬂﬁ A (A) Ty
Assertion (A) and the other as Reason (R). TE HT FT (R) FETRTR |
Assertion (A) : Most of the early nationalists ;;ﬁam:r (A) : Iif\rs qegarfedt | ° stfirmiy F
congidered British rule as an act of providence mmm%mmﬁmﬁw %
destined to bring modernisation. ] -
Rea i i —_— ¥
“ljnfg'rlitis(l?gule” i:i\sﬁiaicomplamed only against BT (R) : 371 RISt W § o -fafewr gep
Select the correct answer from the codes given below : % fes ot .
(a) Both (A) and (R) are true, but (R) is not the :ﬁ%ﬁqan{ﬁﬂﬂ'&ﬁ?ﬂ?ﬂﬁq:
correct explanation of (A). (\)})’ (A) 3 (R) 31 @@ &, fF (R), (A) H1 w8
(b) (A)is false, but (R) is true. e T FAT R |
(¢) Both (A) and (R) are true and (R) is the correct (b) (A)Ted &, fohg (R) T 2|
explanation of (A). (©) (A) it (R) AT wd € oK (R), (A) # T
(d) (A)is true, but (R) is false. ST T 2 |
136.  Which one of the following statements is mot correct (d A) TR, ﬁﬁg(R) i
about William A_J. Archbold ? 13@@* g # fefafad & @
(@) He was the Principal of Government College, FH-HT T FUA qel A€ 8 ?
(b) Ezcc\ias the Principal of Lahore College @ et ET L
i ahors £ (b) 3 ATEN Fieret, STER % = & |
(¢} He was the Principal of MAO College, Aligarh, () TR I, G AL
(d) He was the Principal of the Muir Central (d) & RN HZ HIH, FeETae 3 e 3 |
College, Allahabad. 137, f=fafiga geei w far $ife aor =2 gy &
137. Consider the following events and arrange them in Wmﬁa@w
chronological order starting from the earliest : 1. Jein fagie
1.  Vellore Mutin)} ' 2. Wwﬁﬁﬁﬂ @,&%
2. Death of Nana Fadnavis 3. Seiselt @ AT s ——
3. Recall of Wellesley \y 4. Gl 3
4. Anglo-Nepalese War - fra frg m 2 ﬁﬁﬂ%&mﬂﬁq:
Select the correct answer from the codes given below - (@) 2,3,1,4 (b) 4,1,3,2
@ 23,14 (®) 4,1,3,2 © 2,3,4,1 @ 3,1,2,4
(¢c) 2,3,4,1 (d) 3,1,2,4
138. Match List1 with ListIl and choose the correct| 2> L 1 €et-1l & gafera e st gfiedt % 412 fow
answer using the codes!given below the lists : Wf&ﬁmﬁﬂﬁmﬂﬁ'q:
List-1 7 Listq1 Teft-1 i1
(Revolt) ‘ (Leader) (‘f%??g) ﬁiﬁﬁ‘f)
A. Paika Revolt 1. Edachena Kungan A. 9sF fage 1. Q?»TEFITW
B. Bareilly Revolt (2. Radharam B. s fase 2. TYRW
C. Malabar Revolt 3. Mufti Muhammad Aiwaz C. ueER faEe 3. %t Agee YT
D. Sylhet Revolt 4. Jagabandhu Bidyadhar >
L7 Mihapatra y D. facree fase STeiy TR weTS
Codes : e
A B C D A B C D
@ 4 3 1 2 =4 Y R
(b) 3 4 1 ) ot (b) 3 4 1 2
c) 3 2 1 4 (c) 3 2 1 4
d) 2 | 9 4 d 2 1 3 4
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the following days and arrange thep . ' |
i 0 Sldf gical order : e them in 139, ety feaet o o e offc 5 e 4
4. 0 afte
" dwor? world Health Day Fifere -
I National Maritime Day <7 L fave @ feam A A
" world Athletics Day 2. udmagdfeam g
world Red Cross Day 3. fova wuafesy feaa
eIeCt the correct answer from the codes given below - 4. fEewmfaw —
0 b 2,3, 1 | A fow g e o | we I
p L34 ()  4,2,3,1 -
g by41 (b) 2,1,3,4 é‘gﬁl
o »2Le | © 23,41
] Match List-1 with dLiSt-'H and choose the correct & 3214
' r using the codes given below the lists : ; :
st List-11 140. g o aefou & ifera e o g % A I
(Award) (Recipient) e g i e G
y  Aryabhatta . Amitabh Bachchan Telt-1
Award, 2024 ) ‘
g. World Literary 2. Mamta G. Sagar A. 3TEE TR 2024
Prize, 2024 B. fava wifeea quarm, 2024
¢. LataDeenanath 3. Dr. Subpa Rao C. A1 ST WIS
Mang;sglszr4 Pavuluri [T, 2024 T
Awar N ATATF
. Mo 9giator &R 4, QIEW’"
D. Goldman 4.  Alok Shukla é:\()z ’ ,,,)
Environmental
Prize, 2024 k3
Codes : = - = =
: ) 4
A B C 'D o ; ; 2!
53 3 % 1 = ® 3 214 1
3 , (c) 4 2171 3
o 3 2 iy : d 2 ____§ 4
© 4 2 1 3
@ 2 3 1 4 141. n’aﬁlﬁlﬁﬁnﬁaﬁ%ﬁiﬁﬁqaﬂtwﬁvﬂ%ﬁﬁq
T 2 T FE G I A -
W Match List-I with List-Il and choose the correct N 11
answer using the codes given below the lists : (%Zﬁ? ) (577)
List-T List-11 A. fafim A"I 1 S0k
(Vitamin) (Disease) fref ,
A, Vitamin A 1. Beriberi B b %
B. Vitamin B 2. Blindness C. ffic 3. forem
C. Vitamin C 3. Rickets D. fa@fm D ~4. @dl
D Vitamin D 4. Scurvy —
Cudgs - LMY
A A B C D
( B € P @ 4 3092
v 4 3 2 .
® 2 4 3 O 2 Ls
@ 1 3 2 4
L N T T SO S SOttt SO
___________________________ « 35 *
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142.  Consider the following statements with reference to 142, smorEfl | : * %'Q ferer stfrrlt H"(«"fq
Special Officer for Linguistic Minorities : frafafae wuAt w fa=m !

1. In the Constitution, there is a provision for the 1. dfaums ®, y&% asg %g aTTY AT} EY

post of Special Officer for Linguistic Minorities foru faey rfererrd & ug o1 STauT fohan T ,
for every State. L o A srfufaam
IEICH g 39
2. Amnew Article 350 B was added for this by the 2. o e B SiYeT T | i b
9™ Constitution Amendment Act. W > 330 o
Which of the above statements is/are correct ? Wﬁﬁaﬁww@f wer B
(a) Only2 (b) Neither 1 nor 2 (a) a2 T :rg}?
(c) Only | (d) Both | and 2 (c) Fae | (&) 132
143. The Concurrent list of the Indian Constitution 143. mm@ ot &/72 -
includes : |. S4MR UE arfreg
I. Trade and Commerce ELE 2— ammEl § fietae
2. Adulteration of Goods fﬁ%ﬁl 3' AUt
3. Succession ‘ o8 ud :
IR AT :
Select the correct answer from the codes given below : ;ﬁ?ﬁfgﬁi? (b; 1,233
a ?
(@) land3 (b): 1,2and3 ©) Fae (d) 233
(c) Only1 (d): 2and3
. L -ﬂ.q:rﬁm ' & 0 e | 3FF F i
144.  Fathima Beevi died recently.” Consider the following i W%QT%WW &

statements regarding her :
1. She was the first woman judge of the Supreme

|. 98 WA & Haied TETAd i Uge giea =y

Court of India. | off | .
2. She served as the Governor of Kerala from Z’Eﬁ ]99? ~ 2001 T T T4 & AL
1997 - 2001. Had oft 2 |
3. She was the first Muslim woman to enter into 3. 9% I=IqL IR TH “E?ﬁ arelt gt ﬂﬁ?{q
higher judiciary. Agar off |
Select the correct answer from the codes given below : ﬁﬁqnq@ﬁﬁwﬁm?ﬁq :
(@) 1and?2 (b) 1and3 —- S 132 U/({)y 133
() Only 1 (d)! 1,2and 3
145. With reference ta.the “Naiiohal Intellectual Property | 145.
Rights Policy’” consider the following statements : frteRaa Fuat W fa=m i -
I. It reiterates India’s -~ commitment to Doha 1. 3 e o wemey 3k foror g ¥ wfy wm
Development Agenda and! the TRIPS agreement. ?ﬁrsrﬁraamaﬁm% I
2. Department of Industrial Policy a_nd Promotion is 2. efie Ay it gady favm, wma & Hifgs
the nodal agency for regulating Intellectual e SRR ¥ i we ¥ o ==
Property Rights in India. . It —
Which of the above statements is/are correct ? S § & I 2o -
(a) Only2 (b) Neither I nor 2 (a)° Sorcn 5 ?‘;ﬁ . E%a
(¢) Only ] (d) Both 1 and?2 © Fae1 w | 30 2 At

146.  Which Amendment Acts dg:al; with Local Governance 146, -8 WA 3ffET e & WWWQ

Institutions in India ? ‘ waftra g 9
(@) 63" and 64™ Amendment Acts (a)  63at 3K 64at i sxferfrn
(b) 86™ and 87" Amendment Acts ‘ (b) 86T 3R 874 Tga arfufay
(c) 421 apq 43rd Amendment Acts (c)  42aT 3 43af G arfrfim
(d) 73 and 74 Amendment Acts y 7341 3R 7431 wvirag rferfram :
“3g+
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g , ist-] with List-'II and choose the correct
1 Mmcerusi“g the codes given below the [ists -
" gnS‘V' iy List-1T
List-
(Amiw") (Book)
. 1. A Comprehensive Hij
llanj! : alotyeE
K Ié?)pﬂl India : The Delhj Sultanat
abib and 2. The Economic Life of
B. Nizami Northern India
C (S, Lal 3. Early Chauhan Dynasties
: pasharatha 4. History of the Khaljis
" gharma 210)
Codes : '5&‘“
A B C D
0 ? 1 4 3
" | 2 3 4
o 4 3 2 1

g 3 4 1 2
" Consider the follgwmg statements :
| Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British.
1. Lord Dalhousie recognised the adopted son of
Rani Lakshmi Bai as the heir apparent.
Which of the above statements is/are correct ?
() Only2 (b) Neither | nor 2
(©) Only 1 (d) Both1and2
b, Consider the following foreign travellers and arrange
them in ascending chronological order :
I, I-Tsing
2. Al-Biruni
3. Huentsang (Hiuen Tsang)
4. Fahyan (Fa-Hien)
Select the correct answer from the codes given below :
@ 1,2,3,4 by 4,3,1,2
© 2,1,4,3 (d)y 3,4,2,1
i Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Balban made his government firm
d centralised al) authority in his hands.
R"'“f’“ (R) : He wanted to protect the north-west
Se::“c" against Mongol invasions.
& CtBlhe correct answer from the codes given below :
oth (A) and (R) are true and (R) is the correct
eXplanation of (A).
(A) is false, but (R) is true.
Both (A) and (R) are true, but (R) is mot the
) ;K"?Ct explanation of (A).
- {A) Is true, but (R) is false.

(b)
0]

37
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147, .1 21 et & gifer i s gt 3 A9
T %2 %1 FAM T Tt I FFAC :
-1 gefi-11
(1EF) (JETF)
A deeElt 1, ot afusfaa feed o gfeaT
et / g feeeft gedTa
B. wimwd 2 g g S A
Py sfea
C. $Ta.a@ 3. ol e S
D. wmysmt 4. feed 3E g @ass
T2 ‘
A B C D
./(J)/ 2 1 4 3
® 1 2 3 4
© 4 3 2 1
@ 3 4 1 2

148.  Fefafas Fuet o faam fifso
I forn & sorderg ¥ sftaw, e fie ¥ ST 6
foreg forge a1 g o |
2. o TRt Y U aElt aTE ¥ owe OF
Inufusr € i ar=rar we= 1 |
ST H H F-GE L uf 28 7
(a) FHaA2 (b)y AT 12
Eyéﬂal'_‘ (d) 13 2aM
149. " Trafafiga fagsft oy o faam Hifsre aur 32 oo
wm@aﬁﬁq:

2 .

!
2 HA-TEAT
3. @A %g?%
4
e R e e § & gt 39
(a) 1,2,3,4 ugﬁméljl.il
(€) 2,1,4,3 (d 3,421
150. 1= 21 e o e, i & w0 st (A) e
mm)mwﬁn
(A) : S99 3 39T ITET Fy T 3
mﬁmaﬁmﬁm‘aﬁﬁﬁﬁaﬂmlﬂ_ﬁ
FWUT (R) :aaw-ﬁmvﬁmaﬁmﬁamﬁa
&I AT =g o |
aﬁ%%wqagaﬁﬁwsﬂt‘gﬁq;
(A) T (R) 31 &t ¥ st (R
‘y T HaT R | R )

(b) (AT R, frg Ry T 2

(¢) (A) T (R) 3 & ¥, g (R
-l d (R), (A) #I &t

e T
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